30

" SERVICE
MANUAL

Duo-Beta Integrated Stereo Amplifier

LX-104/Rc-104




Contents |

Adjustemnt LOCAtioNs . . . v . v v it i e e 1 IRPre AmpPCBParts List . .. . ... ..c0ouuuunnnn 18
Adjustment Procedure , . . . ... ... ... L. 2,3 FL—Peak Ind.PCBPartsList . . .................. 19
Exploded View Parts List (RC-104) . . . . ... .......... 3 HDPhonePCBParts List . . .. ... ............... 19
Exploded View Parts List . . . ... ... ............ 4~6 REM Display PCBParts List. . . ... ............... 20
Destination‘sParts List. . . . .. ... .. ... ... ... ... .. 7 Tact SWPCBPartsList. . .. .................... 20 {
Packing Material Parts List. . . . ... ... ... 7 3D Display PCBParts List . . . . ... ... .. ... ..... 21
EQAmpPCBPartsList .. ...................... 8 Function SWPCBParts List. . . .. ................ 21
BDAmMpPCBPartsList . .. ... ... ... ... 9 SP. Terminal PCBParts List . . . ... ... ............ 22
Voltage Amp PCBParts List, . . .. ... ............. 10 Servo SWPCBPartsList. . ... .................. 22
PowerPCBParts List. . . ... ... ......... e e e e 11 ACRelay PCBPartsList. . . ............. e e e e 22
Decorder PCB Parts List . . . . . ... ............. 12,13 Power SWPCB Parts List. . . . .. ................. 22
Selector PCBParts List. . . ... ................ 13,14 Trans Mitter PCBParts List . . , . ... .............. 23
SPSWPCBPartsList. . ... ........ .00 15 ICHandlingGuide . . ... ................... 24~25
Main DrivePCBParts List . . . . . .. ... ... ......... 15 Schematic Diagram {1) . . . . ... ... ... .. ... ..... 26
Main AmpPCB Parts List . . .. .......... e 16,17 SchematicDiagram (2).. . . . . .. ... .. ... 27
Tone Control PCB Parts List. . . . v o v v v v v v e vt e e e 17 Schematic Diagram {3) . . . . . . .. .« i i i 28
VRContPCBPartsList . . ..................... 18 SchematicDiagram (4} . . . ... .................. 29
Filter SWPCBPartsList. . ... .................. 18 Specifiactions . . . .. ... .. .. L Lo, 30

. Distortion ACor DC Distortion AC

Oscilloscope  Meter Voltmeter Meter Oscilloscope AG Voltmeter AG

o e iNEE A S EIE
O O o lleo Ol oo O O 2 o O o OlleoO Q
| I
(gsn 8%
Speker Out Main in DAD
m F B B M
AC Relay—
PCB
i i || N i
O vrso2a — 0— vRrsoz O
F501a q R’ F501b
VRS01a < VRS01b
St
Ree | vR701aQ O VR701b
Amp PCB
! OP752
PEAUS
DC D
Voltmeter E\:I Vocltrneter
550 )
— 3
VR501a,b....... DC OFF SET VR701a,b....... FL INDICATOR
VR502a,b....... IDLING CURRENT L751...... Infrared Sensitivity

—1—



2-7
2-8

3-0
3-1
3-2
3-3
3-4
3-5
3-6
3-7
3-8
3-9
3-10
3-11
3-12
3-13
3-14
3-15
3—-16
3-17
3-18
3-19

3-20
3-21

- Adjustment Procedures

Preparation:

Set AC variac voltage to O V.

Connect terminals 2 and 3 on AC relay PCB (PB84D60543F06) located underneath power transformer.

Connect LX—104 AC plug to AC variac.

Connect idling current adjustment DC voltmeter between F501a and F501b on main amp.

Increase variac voltage gradually and confirm idling current does not drastically increase, then increase AC voltage up to 117 V.
Repeatedly switch power on and off listening for indication of relay’s functioning, then bring down variac voltage to O V.

Main ampilifier adjustment:

Connect 8 ohm resistor and AC milli-voltmeter to speaker terminal.

Connect DC voltmeter to speaker terminal.

Set signal processing switch to on position and connect 1 KHz audio generator output to ‘main in” pin jack terminal.

Increase variac voltage gradually to 117 V.

Adjust VR501a {left channel) and VR501b (right channel} to obtain 0 V on DC voltmeter.

Adjust VR502a (left channel) and VR502b (right channel) to obtain an idling current of 180 mA (note: do adjustment two minutes
after AC supply was adjusted to 117 V.)

Confirm the distortion at 120 W output (at 8 ohm).

Confirm input signal voltage at 1 KHz 120 W (at 8 ohm),

F L Peak meter adjustment:

Set variac voltage to 0 V.

Set signal processing switch to off position and remove signal generator from main in terminal.

Set variac voltage to 117 V.

Connect audio generator output to DAD {auxiliary) terminal.

Turn on power switch.

Confirm FL meter light functions; tuner function and subwoofer full position indicators light up.

Confirm all LED function indicators light up.

Confirm tape monitor indicator LED lights up.

Confirm phono straight indicator LED lights up. -

While testing 3—8 and 3—8 confirm other LED indicators do not light up.

While testing 3—9, activate tape monitor then back to original position {at 3—9) and confirm alt functions properly change.
Repeat 3—11 for DAD and tuner functions.

Push lock key switch on.

Confirm other function switches do not change the functions on the unit while lock key switch is on.

Turn lock key switch off.

Turn off FL meter switch and confirm FL meter blacks out.

Push mono, low, and high switches and confirm respective indicators light up.

Push subwoofer off, 50 Hz, 100 Hz, 150 Hz, and full switches and confirm each LED lights up.

Apply 1000 Hz input signal tothe unit and measure 38.0 V output on speaker terminals (remove 8 ohm load while adjusting FL
meter).

Adjust VR701a and VR701b to obtain 200 W indication on FL meter.

Adjust volume control knob and push peak hold switch on position and confirm FL meter peak hold function.

Confirmation of function switch:

Apply 1000 Hz signal to DAD terminal to obtain 120 W at 8 ohms and measure input signal level.
Confirm tape dubbing circuit function.

Confirm lo-cut filter function,

Confirm hi-cut filter function.

Confirm monaural function.

Confirm balance control function.

Rotate volume control knob to 11 o’clock position and confirm loudness circuit function.

Confirmation of tone control circuit:
Push tone switch in and confirm bass and treble functions,
Push turn-over switch in and confirm tone control effect is increased.

Confirmation of subwoofer:

Hooh-up AC milli-voltmeter to subwoofer output terminal,

Apply DAD terminal, 50 Hz signal.

Confirm no output to subwoofer terminal when subwoofer switch is off,

Push 50 Hz switch in; confirm —3 dB output signal from subwoofer terminal.

Apply 100 Hz signal; push 100 Hz switch in; confirm —3 dB output signal from subwoofer terminal,
Apply 150 Hz signal; push 150 Hz switch in; confirm —3 dB output signal from subwoofer terminal.
Push subwoofer fult switch in; confirm output signal level does not change at any frequency position.

Confirm output noise level on each function with input both open and shorted {volume control is at maximum position).
Confirm output noise level at volume control minimum position.

With servo switch on Servo-face should be in full out position; with servo switch off, Servo-face should return to full in position.
During Servo-face operation, confirm speaker outputs are completely muted.

—2—




9-0 Remote control confirmation:

9-—-1 Turn remote control switch on.

9-2 Hook up oscilliscope probe to P752 on IR PRE AMP PCB.

9-3 White recieving remote contro! signal adjust inductor L751 to obtain maximum output waveform on oscilliscope (try to use
continuous remote control signal such as volume control up/down). This will maximize remote control range and sensitivity.

9—-4 Confirm remote LED blinks while receiving remote control signal.

9-5 Change distance between remote control unit and receiver and confirm proper operation of all functions.

9-6 While changing remote volume level, observe remote volume level indicators to be displaying increasing and decreasing volume
(all 5 LED’s lit indicate maximum volume level).,

9-7 While remote control volume is in maximum position, turn remote switch on and off and confirm sound level remains unchanged.

RC-104 Exploded View Parts List

Sy'\T; t.)oJ Stock No. Description
301 07C55088F02 | Frame, Upper
302 36A55091F01 | Knob, Push A
303 36A55091F02 | Knob, Push A
304 36A55092F01 | Knob, Push B
305 36A55092F02 | Knob, Push B
306 36A55093F01 | Knob, Push C
307 36A55094F01 | Knob, Push D
309 36A55095F01 | Knob, Push E
310 07C55089F01 | Frame, Lower
311 07A55090F01 | Frame, Top
312 15B51498F02 | Cover, Battery
313 03S40012G83 | Scr, Tpg. M2x8 Blk
314 03540012G84 | Scr, Tpg. M2X12 Blk
315 03S40012G85 | Scr, Tpg. M2X14 Blk
316 01V61400F10 | Ass'y, Transmitter PCB




: EXpIOded View
IR e R




Exploded View Parts List

Index Syl\T; bol Stock No. Description Index Syl\r;; bol Stock No. Description

H6 1 07D53039F01 | BKT, R G2 62 09T51832F01 | Outlet AC (Uz)

E3 3 07D53040F01 | BKT, L 09T57934F01 | Outlet, AC (AK)

D3 4 29C41045P03 | Lug W Around H2 63 09T51075F01 | Termial, Gnd

H4 5 07D60425F01 | BKT, "'C” G2 64 08T52995F01 | Capacitor (Uz)

F5 6 07D53042F01 | BKT, F 08T57437F09 | Capacitor (AK)

H6 7 07B53049F01 | BKT, Servo Shaft G2 65 43T53136F01 | Bush, Cap TP150-301

D4 8 45A53081F01 | Lever, Push B H2 66 | 43A56380F01 | Spacer, Rubber 1184

G3 9 07B60680F01 | Bracket, Trans A Gl 67 | 43A57582F01 | Spacer, Rubber 1194

F2 10 07B60681F01 | Bracket, Trans B D6 68 01C55485F01 | Assy, Servo Mech

F2 11 25T60528F01 | Trans, Power (Vz) D6 69 07B53047F01 | BKT, Servo Chas A
25T62454F01 | Trans, Power (AK) c7 70 07B53048F01 | BKT, Servo Chas B

F2 12 25T56008F02 | Trans, Power (L2) E4 71 07A53053F01 | BKT, Push SW B
25T62455F01 | Trans, Power (AK) E4 72 01V61300F77 | Assy, Power SW PCB

F4 13 01V61300F80 | Assy, Main AMP PCB (UZ) E3 73 01V61300F78 | Assy, SP SW PCB
01V63600F29 | Assy, Main AMP PCB (AK) F4 74 01V61500F99 | Assy, Main Drive L

G3 15 07A53114F01 | BKT, Wire A G5 75 01V61600F01 | Assy, Main Drive R

H5 16 07B60418F01 | BKt, Panel "A” G4 76 07D60427F01 | Heat, Sink

G3 17 01V61300F82 | Assy, Power PCB (UZ) G5 77 | 07R51146F01 | Support, TR
01V63600F30 | Assy, Power PCB (AK) F4 78 | 48T56268F 02 | Diode, S10VB40-2

G4 18 01V61300F83 | Assy, Decoder PCB F4 79 08T52995F01 | Cap, 0.01 DE7150FZ

H4 19 01V61300F84 | Assy, Selector PCB F4 80 01V61800F07 | Assy, Terminal PCB

H4 20 01V61300F85 | Assy, Voltage AMP PCB G5 81 29A737272 Lug Wrap Around

H1 21 07A56395F01 | Support, SW H3 82 07A60423F01 | Heat, Sink

H4 22 01V61300F86 | Assy, 3D AMP PCB G4 83 07A60420F01 | BKT, Panel 'C”

H4 23 01V61300P87 | Assy, EQ AMP PCB H3,H4 84 07A60421F01 | BKT, Panel "'D”’

F3 24 01V61300F88 | Assy, AC Relay PCB  (UZ) E3 85 09T51828F01 | Holder, Fus (Uz)
01V63600F31 | Assy, AC Relay PCB  (AK) 09T51074F01 | Holder, Fuse (AK)

G2 25 01V61300F89 | Assy, SP Terminal PCB E2 86 65T62175F01 | Fuse, TA-125V (Uz)

E4 26 01V61300F62 | Assy, Tone Cont. PCB 65T42077U22 | Fuse (AK)

F5 27 01V61300F64 | Assy, Filter SW PCB E3 8 | 43T57047F01 | Spacer, Fuse

D5 28 01V61300F65 | Assy, HD Pnone PCB Ccé 8 | 47A53082F01 | Shaft, A

C5 29 01V61300F66 | Assy, Servo SW PCB D6 8 | 47A56389F01 | Shaft, 1376

C5 30 01V61300F67 | Assy, Funct, SW PCB B5 9 | 47A53084F01 | Shaft, C

D5 31 27D60415F01 | Chas, Front G3 91 84D60548F 06 | Panel, Wire

E6 32 43A55385F01 | Spacer, Front Chas G6 92 43A55383F01 | Bushing, Shaft

E7 33 09T51830F01 | Plug, SW P-2120 (AK) H2 93 09T60545F01 | Jack, Din TCS1230-01

E5 34 07A53055F01 | BKT, Servo Guide E6 94 36B53064F01 | Knob, Push A

D5 35 07A53113F01 | BKT, Lamp A4,B5 95 36B53065F01 | Knob, Push B

D5 36 43A53112F01 | Bushing, Lamp C5 96 36B53066F01 | Knob, Push C

D5 37 65T60521F01 | Lamp, Pilot C6 97 36A52963F01 | Knob, Control

E7 38 09T51831F01 | Socket, SW M-1615 (AK) c7 98 | 36B53070F01 | Knob, Rotary VR

c2 39 01V61300F70 | Assy, IR Pre AMP PCB E2 99 15D53058F01 | Cover, Top

c2 40 07A60933F01 | BKT, Shield 1143 D2 100 43A55384F01 | Spacer, Top Cover

E7 41 07A60682F01 | BKT, AC Socket (AK) C2,D3 101 43A56871F01 | Spacer, 1187

C3 42 01V61300F71 | Assy, FL Peak B7 102 07D52966F06 | Frame, Front

Cc4 43 01V61300F72 | Assy, Rem Display PCB B7 104 | 61A53115F01 | Crystal, Acryl

C4 44 01V61300F73 | Assy, 3D Display PCB A6 105 07D53035F03 | Frame, Indiator

A4 45 01V61300F74 | Assy, Tact SW PCB Ab 106 61A53087F01 | Crystal, indicator, B

c2 46 47A60048F02 | Shaft, Panel A6 107 61A53088F04 | Crystal, Indicator "C"

c2 47 43A55318F01 | Space, C c7 108 07C53036F04 | Frame Servo

B4 48 07C60426F01 | Bkt, Ind"A” Cc7 109 07B53046F01 | BKT, Servo Frame

B3 49 07C53044F01 | BKT, Indicator B Cc7 110 47A53085F01 | Shaft, Servo Guide

C4 50 41A53078F01 | Spning, Plate A C5 111 01V61300F97 | Assy, Knob(phono/MM)

B3 51 | 41A53079F01 | Spring, Plate B B6 112 | 01V61300F98 | Assy, Knob(Phono/MC)

B3 52 29C41045P03 | Lug W Around C6 113 01V61300F99 | Assy, Knob(Tuner)

A5 53 07B53038F01 | Frame, LED B B6 114 | 01V61400F01 | Assy, Knob(DAD/AUX)

C3 54 07A53054F01 | BKT, Indicator C5 115 01V61400F03 | Assy, Knob(Phono/ST)

C3 55 43A53073F01 | Spacer, A B6 116 01V61400F04 | Assy, Knob(Monitor)

E5 56 01V61300F63 | Assy, VR Cont. PCB F6 117 15C60417F01 | Cover, Bottom

E5 57 07B53050F01 | BKT, Rotary Knob A F7 118 07A53356F01 | BKT, Bottom

F5 58 07B53052F01 | BKT, Push SW A G7 119 | 75A52969F01 | Pud, Trunn-leg

Gl 59 15D60416F01 | Cover, Rear (Uz) E6 202 03C42723U01 | Scr, Cup M3x6
15D60416F02 | Cover, Rear (AK) D3 203 03S44205G01 | Scr, T-Tite M3x6

H1 60 43B41625J02 | Support, Cord C4 204 | 03S42723U01 | Scr, Cup M3x6

H1 61 28T55335F01 | Plug, AC Cord (uz) G1,H2 205 03544205G02 | Scr, T-Tite M3x6
28T43812P02 | Plug, AC Cord (AK)




Index . Syl\:r:’ bol Stock No. Description Index Sy[:':) bol Stock No. Description
G1,H2 206 | 04540072G16 |Wsr, T. L M3 B3,C4 247 | 03S44205G05 | Scr, T-Tite M3x5
D3H7 | 207 | 03S44305F01 | Scr, T-Tite M3x6 A5,A6 248 | 03C42723U01 | Scr, Cup M3x6
D3,H7 | 208 | 03S44205G01 | Scr, T-Tite M3x6 Cc3 249 | 03S42723U01 | Scr, Cup M3x6
H5H7 | 209 | 03S44205G01 | Scr, T-Tite M3x6 F6 250 [ 03C40014G04 | Scr, Mch M3x6
D5,E6 | 210 03544205G32 | Scr, T-Tite M3x5 H1 251 | 03S40012G41 | Scr, Tpg M3x8 (uz)
D3 211 03S44205G01 | Scr, T-Tite M3x6 D7 252 | 03S43997P60 | Scr, Mch M4x8

G4 213 | 03S44205G09 | Scr, T-Tite M4x8 D6 253 | 04S40071G03 | Wash, 4,1x7.6x1.0
H1 214 | 03S44205G51 | Scr, T-Tite M4x8 c7 254 | 03S44205G01 | Scr, T-Tite M3x6

F3 215 | 03S43997P84 | Scr, Mch M4x12 D4 256 | 03S40014G04 | Scr, Mch M3x6
F1,F3 216 [ 04S40070G35 | Wsr, 4.2x10x0.8 F4 257 | 03S40018G02 | Scr, Tpg M3x8

F1 217 ) 02S40000G09 | Nut, Hex M4 G5 258 | 04S40071G05 | Wsr, 3.1x5.9x0.7
F3 218 | 03C42723U01 | Scr, Cup M3x6 G6 259 | 03S40011G43 | Scr, Mch M3x10

H5 219 | 03S40018G14 | Scr, Tpg M4x8 G5 260 | 03S40018G01 | Scr, TPG M3x6
F4,G4 221 | 03S44205G49 | Scr, T-Tite M4x8 G5 261 04S40070G23 | Wsr, 3.3x6x0.5

G6 222 [ 03C42723U01 | Scr, Cup M3x6 F4 262 | 03S44205G21 | Scr, T-Tite M3x14
H3 223 | 03S44205G01 | Scr, T-Tite M3x6 F4 263 | 03S40018G01 | Scr, Tpg M3x6

H5 224 ) 03S44205G01 | Scr, T-Tite M3x6 G4 264 | 04S40072G16 |Wsr, T. L. M3
Céetc | 225 | 03S44205G01 | Scr, T-Tite M3x6 G5 265 | 03S40018GO01 | Scr, Tpg M3x6
H1,H2 226 | 03S40012G41 | Scr, Tpg M3x8 G3,H3 266 | 03C42723U01 | Scr, Cup M3x6

E3 227 [ 03S43997P41 | Scr, Mch M3x8 E2 267 | 03S40011G15 | Scr, Mch M3x10
H1,H2 | 228 | 05B41635J02 | Rivet, Push E3 268 | 02S40000G12 | Nut, Hex M3

H3 229 | 03S40018G02 | Scr, Tpg M3x8 G3 269 | 03C42723U01 | Scr, Cup M3x6

F3 230 | 03542723001 | Scr, Cup M3x6 E7 270 | 03544205G03 | Scr, T-Tite M3x8
H1 231 035S40012G41 | Scr, Tpg M3x8 E7 271 | 04S44205G01 | Scr, T-Tite M3x6
D4,D5 232 | 03S44205G12 | Scr, T-Tite M3x4 H2 272 | 03S43997P67 | Scr, Mch M2.6x6

E5 234 | 03544205G01 | Scr, T-Tite M3x6 Ab 273 | 03S44205G46 | Scr, T-Tite M3x6 TRS
D6 235 | 03S44205G01 | Scr, T-Tite M3x6 A7 274 | 03S44205G50 | Scr, T-Tite M3x6 FLT
B5 236 | 03C40014G04 | Scr, Mch M3x6 B6 275 | 03S44205G40 | Scr, T-Tite M3x4

C6 237 | 03C42723U01 | Scr, Cup M3x6 E3 277 | 03S40036U01 | Scr, T-Tite M4x8
ES 239 | 03C40014G04 | Scr, Mch M3x6 El 278 | 03S44205G02 | Scr, T-Tite M3x6
D6 240 | 03S44205G01 | Scr, T-Tite M3x6 F7,H7 279 | 03S44205G01 | Scr, T-Tite M3x6
(67 241 03C40014G15 | Scr, Mch M2x8 F6,G6 280 | 03S44205G17 | Scr, T-Tite M4x6

c3 242 02S40000G11 | Nut, Hex M2 B6 281 | 03S40012G48 | Scr, T-Tite M3x6
B4,C3 243 | 03S44205G05 | Scr, T-Tite M3x5 Cc7 282 | 03C40014G10 | Scr, Mch M3x8

A5 244 | 03C42723U01 | Scr, Cup M3x6 F7 283 | 03S44205G01 | Ser, T-Tite M3x6
B4,C3 245 | 03C40014G04 | Scr, Mch M3x6 G7 284 | 03S44205G25 | Scr, T-Tite M4x10
A4,B5 246 | 03S44205G01 | Scr, T-Tite M3x6 B6 285 | 01V61300F93 | Assy, Frame Front




Destination’s Parts List

ﬁg'm bol | pescription Hgg\lzov) éllj(r(ozgg V) S‘ﬁg.m bol | pescription HgE\IZOV) él}fr(odeOV)
11 Trans, Power 25T60528F01 | 25T62454F01 86 Fuse 65T62175F01 | 65T42077U22
12 Trans, Power 25T56008F02 | 25T62455F01 251 Screw, Washer 03S40012G41 | 03843997P16
13 Ass'y, Main Amp PCB 01V61300F80 | 01V63600F29 02540000G35
17 Ass'y, Power PCB 01V61300F82 | 01V63600F30 270 Scr, M3x8 Non Use 03544205G03
24 Ass'y, AC Relay PCB 01V61300F88 | 01V63600F31 7 Scr, T-Tite M3x6 Non Use 03544205G01
33 Plug, SW P-2121 Non Use 09T51830F01 309 Label, Voltage 54B44257U06 | 54844257001
38 Socket, SW M-1615 Non Use 09T51831F01 F251,252 | Fuse 65T52486F01 | 65T42077U11
a1 BKT, AC Socket Non Use 07A60682F01 F253254 | Fuse 65T52486F07 | 65T42077U17
59 Cover, Rear 15D60416F01 | 15D60416F02 F255 Fuse 65T52486F03 | 65T42077U13
61 Plug, AC Cord 28T55335F01 | 28T43812P02 F251-255 | Holder, Fuse 09T51960F01 | 09T51410F01
62 Outlet, AC 09T51832F01 | 09T57934F01 F951 Fuse Non Use 65T42077U13
64 Capacitor 08T52995F01 | 08T57437F09 F951 Holder, Fuse me
85 Holder, Fuse 09T51828F01 | 09T51074F01 |
Packing Material Parts List

Syﬁ; bol Stock No. Description
301 56C58368F08 | Carton, Packing
302 56D57641F01 | Packing, Tray (L)
303 56D57642F01 | Packing, Tray (R)
304 42A56390F01 | Belt, Packing
307 56B40442790 8| Packing, Front Frame
308 56A57313F01 | Packing, Spacer
309 54B44257U06 | Label, Voltage(UZ)

54B44257U01 | Label, Voltage (AK)

310 MEO0258 Owner's Manual
311 01T58429F01 | Ass'y, Din Cord 8P
312 01T58430F01 | Ass'y, Din Cord 4P




EQ Amp PCB Parts List

Syr\T:) bol Stock No. Description
D108 48T43189F01 | 181555
D109 48T51117F01 | 151553
(Capacitor)
Cl01a,b 21S40655F27 | 220pF Ce
C103a,b 08S40656F09 | 0.0047uF Ce
C104a,b 23S40657F10 | 10uF 16V El
C105a,b 08S5S40656F15 | 0.015uF My
C106a,b 08S40656F08 | 0.0039uF My
C107a,b 08T52448F05 | 0.00047uF Pp
C108a,b 23T42478F09 | 4. 7uF 25V LN El
C109a,b 21S40655F27 | 220pF Ce
C110 23S41198U49 | 330uF 25V El
Ccl11 23S41198U49 | 330uF 25V El
Cl12 23S40657F21 | 100uF 25V El
Cl13a,b 21540655F27 | 220pF Ce
Cll4a,b 21S40655F27 | 220pF Ce
Cl15 | 23540657F14 | 100uF 16V El
(Resistor)
R101a,b 06S44594P06 | 47K 1/4W Rd
R102a,b 06S44593P21 |15 1/4W Rd
R103a,b 06S44593P33 | 47 1/4W Rd
Symbol . R104a,b 06S44593P33 | 47 1/4W Rd
No. Stock No. Description R105ab | 06S44594P04 | 39K 1/4W  Rd
(Relay) R106a,b 06S40105T7T71 |1.8K 1/4W Rd
RL101 80T55298F01 | G2v2-1004D R107a,b - 06S44593P33 | 47 1/4W Rd
RL102 80T55298F01 | G2v2-1004D R108a,b 06S44593P69 | 1.5K 1/4W Rd
RL103 80T55298F 01 | G2v2-1004D R109a,b 06T55175F49 | 220 1/4W Rm
{Plate, Phono) R110a,b 06S44593P21 |15 1/4W Rd
T101 09T60542F02 | 4P. T5859 TUNER, AUX Rllla,b 06S44593P53 | 330 1/4W Rd
T102 09T60542F01 | 2P. T5856 PHONO R112a,b 06S44593P57 | 470 1/4W Rd
‘ (c) R113a,b 06S44594P22 | 220K 1/4W Rd
1C101 51T52153F01 | NJM2043D-D R114a,b 06S44593P95 | 18K 1/4W Rd
1C102 51T60540F01 | TD62004P R115a,b 06S44594P34 | 680K 1/4W Rd
(sw) R116a,b 06S44593P51 | 270 1/4W Rd
SW101 J 80T52120F OL Magnet, SWE016401-S R117a,b 06S44594P38 | 1M 1/4W Rd
(Transistor, FET) R118a,b 06S44593P59 | 560 1/4W Rd
Q101a,b 487T60558F03 | 2SK240 BL, V R119a,b 06S44594P22 | 220K 1/4W Rd
Q102a,b 48T43525F05 | 25C1815-Y, GR R120a,b 06S44594P46 | 2.2M 1/4W Rd
Q103a,b 48T51539F01 | 2SK117(Y) R121a,b 06S44594P46 | 2.2M 1/4W Rd
Q104 48T56278F01 | 25C3068 R124 06T55175F45 | 150 1/4W Rm
Q105 48S43525F05 | 25C1815-Y, GR R125 06S44593P89 | 10K 1/4W Rd
Q106 48S43525F05 | 2SC1815-Y, GR R126 06S44594P04 | 39K 1/4W Rd
(Diode, LED) R127 06S44594P02 | 33K 1/4W Rd
D101a,b 48T60971F01 | LTZ-R15 R128 065S44593P97 | 22K 1/4W Rd
D102 48T55186F01 | GP10D R129 06S44594P06 | 47K 1/4W Rd
D103 48T55186F01 | GP10D R130 06S44593P97 | 22K 1/4W Rd
D104 48T55186F01 | GP10OD R131 06544593P97 | 22K 1/4W Rd
D105 48T55186F01 | GP10D R132 06S44593P67 |1.2K 1/4W Rd
D106 48T43189F01 | 151555 R133 06544593P67 |1.2K 1/4W Rd
D107 48T43189F01 | 181555 |




3D Amp PCB Parts List

Syr\:r;bo' Stock No. Description
C160 08T42629F32 | 0.18uF My
C161 23T42478F09 | 4.7uF 25V LN El
Cl62 23S40657F31 | 4.7uF 50V El
C163 21S40655F11 | 10pF Ce
C164 23T42478F09 | 4.7uF 25V LN El
C165 21S40655F29 | 330pF Ce
Clé6ab | 08S40656F25 | 0.1uF My
Cl67a,b | 08S40656F10 | 0.0056uF My
C168 23S41198U42 | 220uF 25V El
C169 23S41198U42 | 220uF 25V El
C170 23S41198U42 | 220uF 25V El
ci71 23S40657F28 | luF 50V El
C172 23S40657F10 | 10uF - 16V El
(Resistor) .
R15lab | 06S44594P46 [2.2M 1/4W Rd
R152a,b | 06S44593P73 | 2.2K 1/4W Rd
R153a,b | 06S44594P26 | 330K /4w Rd
Rl54a,b | 06S44593P85 | 6.8K 1/4W Rd
R155 06S44594P22 | 220K 1/4W Rd
R156 06S44594P14 | 100K 1/4W Rd
Symbol L 1 |R157 06S44593P95 | 18K 1/4W Rd
ryNo. Stock No. Description R158 06S44594P30 | 470K 1/4W  Rd
| (Retay) R159 06S44594P38 | 1M 1/4W Rd
RL151 80T55298F01 | G2V2-1004D R160 06S44594P38 | 1M 1/4W Rd
RL152 80T55298F01 | G2V2-1004D R161 06S44594P38 | 1M 1/4W Rd
RL153 80T55298F01 | G2V2-1004D R162 06S44593P65 | 1K 1/4W Rd
RL154 80T55298F01 | G2v2-1004D R163 06S44594P14 | 100K 1/4W Rd
RL155 80T55298F01 | G2v2-1004D R164 06S44593P77 | 3.3K 1/4W Rd
RL156 80T55298F01 | G2V2-1004D R165 06S44593P95 | 18K 1/4W Rd
(Plate, Phono) R166 06S44593P57 | 470 1/4w Rd
T151 09T60542F02 | 4P.T5859 TAPEI R167 06S44594P22 | 220K 1/4W Rd
1152 09T60542F02 | 4P.T5859 TAPE2 R168a,b | 06S44594P46 | 2.2M 1/4W Rd
T153 09T52976F01 | 1P SUBWOOFER R169a,b | 06S44594P46 |2.2M 1/4
ac) R170ab | 06S44594P46 | 2.2M 1/4W Rd
IC151 51T53311F01 | 4562D-D Ri7lab | 06S44594P46 |2.2M 1/4W Rd
IC152 51T53311F01 |4562D-D R172ab | 06S44594P38 | 1M 1/4W Rd
IC153 51T60560F01 | LC7817 R173a,b | 06S44593P77 | 3.3K 1/4W Rd
IC154 51T60540F01 | TD62004P Ri74a,b | 06S44594P38 | 1M 1/4W Rd
(Transistor) R175a,b | 06S44593P85 | 6.8K 1/4W Rd
Q151 48T51878F03 | 25C2878 B R176 06S44594P26 | 330K 1/4W Rd
Q152 48T51118F01 | 2SA1015-Y R177 06S44594P30 | 470K 1/4W Rd
Q153 48S43525F05 | 25C1815-Y, GR R178 06S44594P26 | 330K 1/4W Rd
Q154 48S43525F05 | 2SC1815-Y, GR R179 06S44594P26 | 330K 1/4W Rd
| (Diode) R180 06S44593P65 | 1K 1/4W Rd
D157 48T43189F01 | 151555 R181 06S44594P14 | 100K 1/4W Rd
D158 48T43189F01 | 151555 R182 06S44594P18 | 150K 1/4W Rd
D159 48T43189F01 | 151555 R183 06S44594P22 | 220K 1/4W Rd
D160 48T43189F0D1 | 151555 R184 06S44594P 14 | 100K 1/4W Rd
(Capacitor) R185 06S44594P06 | 47K 1/4W Rd
Cl5lab | 23T42478F09 [4.7uF 25V LN El| |P186 06S44594P06 | 47K 1/4W Rd
Cl52ab | 21S40655F19 | 47pF Ce| |R187 06S44593P97 | 22K 1/4W Rd
Cl53a,b | 23S42478F09 | 4.7uF 25V LN El| |R188 06S44593F97 | 22K 1/4W Rd
C154 21S40655F19 | 47pF Ce| |R189 06S44593P97 | 22K 1/4W Rd
C155 23T42478F09 | 4.7uF 25 LN El| |RI190 06S44593P97 | 22K 1/4W Rd
C156 23T42478F09 | 4.7uF 25V LN El| |R191 06S44593P97 | 22K 1/4W Rd
C157 21S40655F23 | 100pF Ce| |R192 06S44593P97 | 22K 1/4W Rd
C158 08S40656F23 | 0.068uF My | |R193 06S4459P14 | 100K 1/4W Rd
C159 08S40656F25 | 0.1uF My




Voltage Amp PCB Parts List

Syl\rlr; bol Stock No. Description

" (Capacitor)
C201a,b 23T42478F09 | 4.74F 25V LN El
C202a,b 21540655F19 | 47PF Ce
C203a,b 23T42478F09 | 4.7uF 25V LN El
C204a,b 21S40655F23 | 100pF Ce
C206 23S40657F52 | 220uF 16V El
C207 23S40657F52 | 220uF 16V E1l
Cc208 23S40657F10 | 10uF 16V El
C209 23S40657F27 | 0.47uF 50v El
C210 23840657F27 | 0.47uF 50v El
c211 21S40655F23 | 100pF Ce
C212 21S40655F23 | 100pF Ce
Cc213 23S40657F27 | 0.47uF 50v El
C214 23S40657F19 | 33uF 25V El
C215 23540657F32 | 10uF 50v El
C216 23S40657F10 | 10uF 16V El
c217 23S40657F21 | 100uF 25V El
C219 23S40657F31 | 4.7uF 50v El
C220 23S41198U01 | 0.47uF 50v El
CA425 23540657F29 | 2.2uF 50V El

(Resistor)
R201a,b 065S44594P38 | 1M 1/4W Rd
R202a,b 06544594P30 | 470K 1/4W Rd
R203a,b 06S44593P59 | 560 1/4W Rd
R204a,b 06S44594P26 | 330K 1/4W Rd
R205a,b 06S44593P59 | 560 1/4W Rd
R206a,b 06544594P22 | 220K 1/4w Rd
R207a,b 06544594P34 | 680K 1/4wW Rd
Symbol . R208a,b 06S44594P26 | 330K 1/4W Rd
No. StockNo. Description R2llab | 06S44594P26 | 330K /AW  Rd
(Switch) R212a,b 06S44594P30 | 470K 1/4W Rd
SW201 80T52120F02 | Magnet, SWE016401-NS R213a,b 06S44594P38 | 1M 1/4W Rd
SW202 40T53205F01 | Slide SSP32204, Signal R214a,b 06S44594P26 | 330K 1/4W Rd
(Plate, Phono) R215a,b 06S44594P30 | 470K 1/4W Rd
T201 | 09T60542F02 | 4P T5859 PRE/MAIN R216a,b 06S44594P30 | 470K 1/4W Rd
(Resonat, Ceramic) R217 06S44394P06 | 47K 1/4W Rd
X201 | 91T60972F01 |CSB480E R218 06S44594P14 | 100K 1/4wW Rd
(IC) R219 06T55175F51 | 270 1/2w Rm
IC201 51T60559F01 | M51133P R220 06T55175F51 | 270 1/2w Rm
1C202 51T60541F01 | M50601P R221 06T55175F29 |33 1/2wW Rm
| (Transistor) R222 06T55175F29 | 33 1/2w Rm
Q201a,b 48T51878F03 | 25C2878 B R223 06S44593P89 | 10K 1/4W Rd
Q202a,b 48T51118F01 | 2SA1015-Y R224 06S44593P89 | 10K 1/4W Rd
Q203 48T43525F05 | 25C1815-Y, GR R225 06S44593P97 | 22K 1/4W Rd
Q204 48T51118F01 | 2SA1015-Y R226 06544593P97 | 22K 1/4W Rd
Q205 48T51118F01 | 2SA1015-Y R227 06S44594P06 | 47K 1/4W Rd
Q206 48T56278F01 | 25C3068 R228 06S44594P06 | 47K 1/4W Rd
{Diode) R229 06S44594P06 | 47K 1/4wW Rd
D201 48T40150U72 | HZ15-3 Zener R230 06S44593P97 | 22K 1/4W Rd
D202 48T40150U72 | HZ15-3 Zener R232 06544593P89 | 10K 1/4W Rd
D203 48T55186F01 | GP10D ' R233 065S44594P02 | 33K 1/4W Rd
D421 48T43189F01 | 1S1555 R234 06T55175F45 | 150 1/2w Rm
D422 48T43189F01 | 1S1555

—-10—




Power PCB Parts List

Sy’\rlr:) bol Stock No. Description
D256 48T55186F01 | GP10OD
D257 48T55186F01 | GP1OD
D258 48T55186F01 | GP10D
D259 48T55186F01 | GP10D
D260 48T55186F01 | GP10OD
D263 48T51116F01 | SIVB10
(Capacitor)
C251 23541198U44 | 220uF 50V El
C252 23541198U44 | 220uF 50V El
C253 23541198U42 | 220uF 25V El
C254 23S41198U42 | 220uF 25V El
C255 23541198042 | 220uF 25V El
C256 23541198042 | 220uF 25V El
C257 23S41198U42 | 220uF 25V El
C258 23541198U42 | 220uF 25V El
C259 23S540657F19 | 33uF 25V El
C260 23S41198U65 | 1000uF 25V El
C261 23S41198U56 | 470ufF 16V El
C262 23S41198U71 | 2200uF 16V El
C263 23S41198U76 | 3300uF 16V El
C264 08S40805F07 | 00001uF Ce
Symbol . C266 23S540657F30 | 3.3uF 50V El
No. Stock No. Description 267 23S40657F21 | 100uF 25V El
(Holder, Fuse) C268 23541198U50 | 330uF 35v El
F251-255 | 09T51960F01 | YSH-401T(UZ) C269 23S40657F19 | 33uF 25V El
09T51410F01 | Semko(AK) C270 23S40657F13 | 47uF 16V El
(Fuse) c271 23S40657F13 | 47uF 16V El
F251 65T52486F01 | MF6INM 0.5-125(UZ) C272 23S41198U42 | 220uF 25V El
65T42077U11 | T315mA(AK) (Resistor) .
F252 65T52486F01 | MF6INM 0.5-125(UZ) R251 06T55175F73 | 2.2K 1/2wW Rm
65T42077U11 | T315mA(AK) R252 06T55175F73 |2.2K 1/2w Rm
F253 65T52486F07 | MF6INM 2-125(UZ) R253 06T55175F45 | 150 1/2wW Rm
65T42077U17 | T1.25A(AK) R254 06T55175F45 | 150 1/2w Rm
F 254 65T52486F07 | MF61NM 2-125(UZ) R255 06T55175F41 | 100 1/2w Rm
65T42077U17 | T1.25A(AK) R256 06T55175F41 | 100 1/2w Rm
F255 65T52486F03 | MF6INM 1-125(UZ) R259 06S44594P06 | 47K 1/4wW Rd
65T42077U13 | T-500mA (AK) R260 06S44593P89 | 10K 1/4W Rd
(Ic) R261 06T55175F29 | 33 1/2W Rm
IC251 51T53320F01 | L78M12 R262 06T55175F45 | 150 1/2wW Rm
1C252 51T53320F01 | L78M12 R264 06T55177F21 |15 1w Rm
1C253 51T60969F01 | NJM78L05 A R265 06S44593P73 | 2.2K 1/4W Rd
(Transistor) R266 06S44593P73 | 2.2K 1/4W Rd
Q251 48T47144F02 | 2SD400 E R267 06S44593P81 | 4.7K 1/4W Rd
Q252 48T44652P01 | 25A490 Y R268 065S44593P41 | 100 1/4W Rd
Q253 48T47144F02 | 2SD400 E R269 06S44594P14 | 100K 1/4W Rd
Q254 48T44652P01 | 2SA490 Y R270 06S44593P73 | 2.2K 1/4W Rd
Q255 48T47144F02 | 25D400 E R271 06S44593P73 | 2.2K 1/4W Rd
Q256 48T51118F01 | 25A1015 Y R272 06S44594P14 | 100K 1/4W Rd
Q257 48T51120F01 | 25C2235 R273 06S44593P97 | 22K 1/4W Rd
Q258 48T51120F01 | 25C2235 R274 06S44593P89 | 10K 1/4W Rd
Q259 48T51120F01 |25C2235 R275 065S44593P89 | 10K 1/4wW Rd
Q260 48T51120F01 | 25C2235 R276 06S44594P06 | 47K 1/4W Rd
Q262 48S43525F05 | 28C1815 Y, GR R277 06T55175F45 | 150 1/2wW Rm
' (Diode) R278 06S44594P30 | 470K 1/4W Rd
D251 48T53388F01 | SIVB-20 R280 06544593P81 | 4.7K 1/4wW Rd
D252 48T52739F90 | HZ22-3 Zener R286 06T55175F69 | 1.5K 172w Rm
D253 48T52739F90 | HZ22-3 Zener R287 06S44593P01 | 2.2K 1/4W Rd
D254 48T51116F01 | SIVBIO

11—




Decorder PCB Parts List

Syl\r;:) bol Stock No. Description

D305 48T43189F01 | 151555

D306 48T43189F01 | 151555

D307 48T43189F01 | 151555

D308 48T43189F01 | 151555

D309 48T43189F01 | 151555

D310 48T43189F01 | 151555

D311 48T43189F01 | 151555

D313 48T43189F01 | 1S1555

D314 48T43189F01 | 151555

D315 48T43189F01 | 151555

D316 48T43189F01 | 151555

D317 48TA43189F01 | 151555

D318 48T43189F01 | 151555

D319 48T43189F01 | 151555

D320 48T43189F01 | 151555

D321 48T43189F01 | 151555

D322 48T43189F01 | 151555

D323 48T43189F01 |1S1555

D324 48T43189F01 |1S1555
Symbol . D325 48T43189F01 | 151555
"No. \ Stock No. T Description D326 48T43189F01 | 151555
(Jack) D327 48T43189F01 | 151555
T301 09T50261F01 | Control TUNER D328 48T43189F01 | 151555
T302 09T50261F01 | Control DECK D329 48T43189F01 | 151555
T303 | 09T56274F01 | Din 4p TURNTABLE D330 48T43189F01 | 151555
(Resonat, Ceramic) D331 48T43189F01 | 151555
X301 [91T55305F01 | CSB455A D332 48T43189F01 | 151555
(IC) D333 48T34189F01 | 151555
1C301 51T60536F01 | TC9134 D334 48T34189F01 | 151555
1C302 51T60526F01 | LB1240 D335 48T34189F01 | 151555
1C303 51T60526F01 | LB1240 D336 48T52739F37 | HZ6B-1  Zener
(Transistor) D337 48T43189F01 | 151555
Q301 48S43525F05 | 2SC1815 Y, GR D338 48T52739F01 | HZI1A-1 Zener
Q302 48S43525F05 | 2SC1815 Y, GR (Capacitor)
Q303 48S43525F05 | 2SC1815 Y, GR C301 08S44505P49 | 0.001uF Ce
Q304 48S43525F05 | 25C1815 Y, GR C302 23S40657F13 | 47uF 16V El
Q305 48S43525F05 | 2SC1815 Y, GR C303 21S40655F23 | 100pF Ce
Q306 48S43525F05 | 2SC1815 Y, GR C304 21S40655F23 | 100pF Ce
Q307 48S43525F05 | 2SC1815 Y, GR C305 08S40805F22 | 0.04uF Ce
Q308 48S43525F05 | 2SC1815 Y, GR C306 08S40805F22 | 0.04uF Ce
Q309 48S43525F05 | 25C1815 Y, GR C307 08S40805F22 | 0.04uF Ce
Q310 48S43525F05 | 25C1815 Y, GR C308 08S40805F22 | 0.04uF Ce
Q311 48S43525F05 | 28C1815 Y, GR €309 23S40657F27 | 0.47uF 50V El
Q312 48S43525F05 | 2SC1815 Y, GR C310 08S40805F22 | 0.04uF Ce
Q313 48S43525F05 | 25C1815 Y, GR 311 08S40805F22 | 0.04uF Ce
Q314 48S43525F05 | 25C1815 Y, GR C312 08S40805F22 | 0.04uF Ce
Q315 48S43525F05 | 2SC1815 Y, GR C313 08S40805F22 | 0.04uF Ce
0316 48S43525F05 | 2SC1815 Y, GR c314 08S40805F22 | 0.04uF Ce
Q317 48S43525F05 | 2SC1815 Y, GR C315 08S40805F22 | 0.04uF Ce
Q318 48S43525F05 | 25C1815 Y, GR C316 08S40805F22 | 0.04uF Ce
Q319 48S43525F05 | 25C1815 Y, GR c317 08S40805F22 | 0.04uF Ce
0320 48S43525F05 | 25C1815 Y, GR C318 08S40805F22 | 0.04uF Ce
Q321 48S43525F05 | 25C1815 Y, GR ©320 08S40805F22 | 0.04uF Ce
(Diode) | |c320 23S40657F10 | 10uF 16V El
D301 48T43189F01 | 151555 c321 23S40657F10 | 10uF 16V El
D302 48T43189F01 | 151555 C322 23S40657F14 | 100uF 16V E1
D303 48T43189F01 | 1S1555 C323 23S40657F13 | 47uF 16V E1
D304 48T43189F01 | 1S1555 C324 08S40805F22 | 0.04uF Ce

—12—




Sy'\rl\:) bol Stock No. Description Syl\T; bol Stock No. Description
| (Resistor) R328 06S44593P97 | 22K 1/4w Rd
R301 06S44593P17 |10 1/4W Rd R329 06S44594P14 | 100K 1/4wW Rd
R302 06S44593P81 |4.7K 1/4W Rd R330 06S44593P57 | 470 1/4W Rd
R303 065S44593P81 |4.7K 1/4W Rd R331 06S44593P41 | 100 1/4W Rd
R304 06544594P06 | 47K 1/4W Rd R332 06S44593P97 | 22K 1/4W Rd
R305 06S44593P97 | 22K 1/4W Rd R333 06S44594P14 | 100K 1/4W Rd
R306 06S544593P69 | 1.5K 1/4W Rd R334 06S44593P97 | 22K 1/4W Rd
R307 06544593P89 | 10K 1/4W Rd R335 06S44594P14 | 100K 1/4W Rd
R308 06S44593P9%7 | 22K 1/4W Rd R336 06S44593P65 | 1K 1/4wW Rd
R309 06S44594P06 | 47K 1/4W Rd R337 06S40150T57 | 470 1/4W Rd
R310 06544594P06 | 47K 1/4W Rd R338 065S44593P97 | 22K 1/4W Rd
R311 06S44593P93 | 15K 1/4W Rd R339 06S44594P14 | 100K 1/4W Rd
R312 065S44593P81 |4.7K 1/4W Rd R340 06S44593P97 | 22K 1/4W Rd
R313 06S44593P81 |4.7K 1/4W Rd R341 065S44594P14 | 100K 1/4w Rd
R314 06S44594P06 | 47K 1/4W Rd R342 06544593P97 | 22K 1/4W Rd
R315 06544593P57 | 470 1/4W Rd R343 065S44594P14 | 100K 1/4W Rd
R316 065S44594P14 | 100K 1/4W Rd R344 065S44593P97 | 22K 1/4wW Rd
R317 06S44593P97 | 22K 1/4W Rd R345 06544594P14 | 100K 1/4wW Rd
R318 06S44593P97 | 22K 1/4W Rd R346 06S44593P81 |4.7K 1/4w Rd
R319 06S44594P14 | 100K 1/4W Rd R347 06S44594P22 | 220K 1/4wW Rd
R320 06S44593P97 | 22K 1/4W Rd R348 06S44594P06 | 47K 1/4W Rd
R321 06S44594P14 | 100K 1/4W Rd R349 06S44594P06 | 47K 1/4W Rd
R322 06S44593P97 | 22K 1/4W Rd R350 06S44593P81 | 4.7K 1/4W Rd
R323 06S44594P14 | 100K 1/4W Rd R351 06S44593P69 | 1.5K 1/4W Rd
R324 06S44594P14 | 100K 1/4W Rd R352 065S44593P97 | 22K 1/4W Rd
R325 06544593P97 | 22K 1/4W Rd R353 06544594P14 | 100K 1/4w Rd
R326 06S44593P97 | 22K 1/4W Rd R354 06S44593P89 | 10K 1/4W Rd
R327 06S44594P14 | 100K 1/4W Rd
Selector PCB Parts List
Syl\T; bol Stock No. Description

' (10)

1C401 51T60540F01 | TD62004P

1C402 51T60540F01 | TD62004P

1C403 51T58406F01 | TCO135P

1C404 51T43196UD01 | Touch SW

1C405 51T43196U01 | Touch SW

(Transistor)

Q401 48T51118F01 | 2SA1015-Y

Q402 48S43525F05 | 2SC1815-Y, GR

Q403 48S43525F05 | 25C1815-Y, GR

Q404 48S43525F05 | 25C1815-Y, GR

(Diode)

D401 48T43189F01 | 151555

D402 48T43189F01 | 1S1555

D403 48T43189F01 |1S1555

D404 48T43189F01 | 181555

D405 48T60971F01 | LTZ-R15

D406 48T43189F01 |1S1555

D407 48T43189F01 | 1S1555

D408 48T43189F01 | 181555

D409 48T43189F01 | 151555

D410 48T43189F01 | 1S1555

D411 48T43189F01 | 1S1555

D412 48T43189F01 | 1S1555

D413 48T43189F01 | 1S1555

—-13—




Symbol

Symbol

No. Stock No. Description No. Stock No. Description
D414 48T43189F01 | 181555 R418 06S44593P93 [ 15K 1/4W Rd
D415 48T43189F01 | 151555 R419 06544593P81 | 4.7K 1/4W Rd
D416 48T43189F01 | 151555 R420 06544594P14 | 100K 1/4W Rd
D417 48T43189F01 | 151555 R421 06S44594P14 | 100K 1/4W Rd
DA18 48T4A3189F01 | 151555 R422 06S44594P02 | 33K 1/4W Rd
D419 48T43189F01 | 151555 R423 06S44594P02 | 33K 1/4W Rd
D420 48T43189F01 | 151555 R424 06S44594P22 | 220K 1/4W Rd.
(Capacitor) R425 06S44594P22 | 220K 1/4W Rd
C401 08S40805F22 | 0.04uF Ce R426 06S44593P81 | 4.7K 174w Rd
C402 08S40805F22 | 0.04uF Ce R427 065S44593P81 | 4.7K 1/4wW Rd
C403 08S40805F22 | 0.04uF Ce R428 06S44593P81 | 4.7K 1/4W R
C404 08S40805F22 | 0.04uF Ce R429 06S44593P97 | 22K 1/4wW R
C405 08S40805F22 | 0.04uF Ce R430 06S44593P41 | 100 1/4W R
C406 08S40805F22 | 0.04uF Ce R431 065S44594P14 | 100K 1/4W R
c4a07 23S540657F27 | 0.47uF 50v El R432 06S44594P14 | 100K 1/4W R
C408 08S40805F22 | 0.04uF Ce R433 06S44594P14 | 100K 1/4W Rd
C409 08S40805F22 | 0.04uF Ce R434 51T51133F02 | 100Kx4 Ne
C410 08S40805F22 | 0.04uF Ce R435 06S44594P06 | 47K 1/4W Rd
C411 08S40805F22 | 0.04uF Ce R436 06S44593P97 | 22K 1/4W Rd
C412 08S40805F22 | 0.04uF Ce R437 06S44593P97 | 22K 1/4W Rd
CA13 08S40805F22 | 0.04uF Ce R438 065S44593P97 | 22K 1/4W Rd
C414 08S40805F22 | 0.04uF Ce R439 06S44593P97 | 22K 1/4W Rd
C415 23T42478F18 | 0.1uF 50v LN El R440 06544593P97 | 22K 1/4W Rd
CAa16 23T42478F18 | 0.1uF 50v LN El R441 065S44594P14 | 100K 1/4wW Rd
CcAa17 23T42478F18 | 0.1uF 50v LN El R442 065S44594P14 | 100K 1/4W Rd
CA418 23T42478F18 | 0.1uF 50v LN El R443 065S44594P14 | 100K 1/4W Rd
C419 23S41198U56 | 470uF 16V El R444 065S44594P14 | 100K 1/4W Rd
C420 23541198U56 | 470uF 16V El R445 06544593P81 | 4.7K 1/4W Rd
Cc421 23541198U56 | 470uF 16V El R446 06S44594P14 | 100K 1/4W Rd
C422 23S40657F14 | 100uF 16V El R447 51T51133F02 | 100Kx4 Ne
C423 23540657F14 | 100uF 16V El R448 06S44593P97 | 22K 1/4W Rd
(Resistor) R449 06S44593P97 | 22K 1/4W Rd
R401 06S44594P14 | 100K 1/4W Rd R450 06544593P97 | 22K 1/4W Rd
R402 06544593P41 | 100 1/4W Rd R451 06S44593P97 | 22K 1/4W Rd
R403 06S44593P41 | 100 1/4W Rd R452 06S44593P97 | 22K 1/4W Rd
R404 06S44594P14 | 100K 1/4w Rd R453 06S44593P81 | 4.7K 1/4W Rd
R405 06S44594P14 | 100K 1/4W Rd R454 06S44593P81 | 4.7K 1/4W Rd
R406 065S44594P14 | 100K 1/4W Rd R455 06S44593P81 | 4.7K 1/4W Rd
R407 06S44594P14 | 100K 1/4wW Rd R456 06S44593P97 | 22K 1/4W Rd
R408 51T51133F05 | 100Kx5 Ne R457 06S44594P06 | 47K 1/4W Rd
R409 06S44594P22 | 220K 1/4w Rd R458 065S44593P81 | 4.7K 1/4W Rd
R410 065S44593P97 | 22K 1/4W Rd R459 06S44593P83 | 5.6K 1/4W Rd
R411 06S44593P97 | 22K 1/4W Rd R460 06S44593P81 | 4.7K 1/4W Rd
R412 06S44593P97 | 22K 1/4W Rd R461 06S44593P81 | 4.7K 1/4W Rd
R413 065S44593P97 | 22K 1/4W Rd R462 06S44593P81 | 4.7K 1/4W Rd
R414 065S44593P97 | 22K 1/4W Rd R463 06S44593P81 |4.7K 1/4W Rd
R415 06544594P02 | 33K 1/4W Rd R465 06S44594P06 | 47K 1/4W Rd
R416 06544593P93 | 15K 1/4W Rd R466 06S44593P89 | 10K 1/4W Rd
R417 06544593P89 | 10K 1/4W Rd R467 06544593P83 | 5.6K 1/4W Rd

—14—




SP SW PCB Parts List

Syﬁ; bol Stock No. Description
(Diode)
D471 48T55186F01 | GP10D
D472 48T43189F01 | 151555
D473 48T55186F01 | GP10D
(Capacitor)
C47lab | 08540656F21 | 0.047uF My
c472 23540657F35 | 47uF 50V El
C473 23T41366F11 | 100uF 10V NP El
C474 23540657F28 | 1ufF 50V El
C475 08540656F17 | 0.022uF My
C476 23S40657F35 | 47uF 50V El
(Resistor)
R47l1ab | 06T56661F17 |10 3w Rm
R472 06544594P20 | 180K 1/4wW Rd
Symbol L R473 06544593P83 | 5.6K 1/4W Rd
"No. Stock No. Description R474 06S44593P53 | 330 1/4W  Rd
(SW, Push) R475 06544593P85 | 6.8K 1/4W Rd
SW471 40T53207F01 | SUL211S SP A R476 06544593P65 | 1K 1/4W Rd
SW472 40T53207F01 | SUL211S SP B R477 06544594P14 | 100K 1/4wW Rd
(1C) R478 06S44594P08 | 56K 1/4 Rd
IC471 [ 51T60527F01 | UPC1237H R479 06S44594P18 | 150K 1/4W Rd
(Relay) R480a,b | 06T55177F53 | 33 1w Rm
RL451 | 80T53350F01 | G2Z-222P-US R48lab | 06544593P89 | 10K 1/4W Rd
(Transistor) R482 06544593P61 | 680 1/4W Rd
Q471 | 48T51118F01 | 25A1015Y R482 06S44594P18 | 150K 1/4W Rd
Main Drive PCB Parts List
Sy'\r;lbol Stock No. Description Sy;}:) bol Stock No. Description
(Transistor) D502ab | 48T60971F01 | LTZ-R15
Q50la,b | 48T51121F01 | 2S5A992 (capacitor) ,
Q502a,b | 48T51121F01 | 2SA992 C50la,b | 08T42081U01 | 100pF Po
Q503a,b | 48T51121F01 | 25A992 (Resistor)
Q504a,b | 48T51121F01 | 25A992 RS0lab | 06S44594P14 | 100K 1/4W Rd
Q505a,b | 48T60531F01 | 25C2704 O, Y R482ab | 06544593P65 | 1K 1/4W Rd
Q506a,b | 48T60531F01 | 25C2704 O, Y R503a,b | 06T55175F29 |33 1/2w Rm
Q507a,b | 48T60531F01 | 25C2704 O, Y R504ab | 06544593P41 (100 1/4W Rd
(Resistor, Variable) R505a,b 06T55175F29 |33 1/2wW Rm
VR501a,b | 18T43733P10 | 1K-1/2W R506a,b | 06S44593P33 |47 1/4W Rd
(LED) R507ab | 06T55175F51 | 270 1/2W Rm
D501ab | 4 8 T60971F 0 1 | LTZ-R15

—15—




Main Amp PCB Parts List

e

©iv¥9 g 1053
T .¥9 B 20sd

SyI\T; bol Stock No. Description
— rocs mems | 0332 (Varible Resistor)
‘; i @:@Q hszes 1517 : VR502a,b | 18C41732G07 | 1K-B
| o S ey HEEE. (Fuse)
i A +w 15 o AFT g I F501a,b 65T56270F01 | 61ML 6-125
F i Oole—p gl Elomls F502ab | 65T56270F01 | 61ML 6-125
T 2 (Holder, Fuse)
I lggg@ F501a,b 09T51960F01 | YSH-401T
e F502a,b 09T51960F01 | YSH-401T
3 (Posistor)
TH510 | 48T60529F01 | PTH487A01
— (Coil)
L510a,b | 24T51105F01 [ Coil, Choke

(Trnsistor, FET)

Q510a,b 48T60558F03 | 25K240 BL FET
Q511a,b 48T60532F01 | 2SA11440, Y
Q512a,b 48T60532F01 | 25A11440, Y
Q513a,b 48T60531F01 | 25C2704 O, Y
Q514a,b 48T47682F02 | 25C1845 FA
Q515a,b 48T51118F01 | 2SA1015Y

Q516a,b 48S43525F05 | 25C1815Y, GR
Q517a,b 48S43525F05 | 258C1815Y, GR
Q518a,b 48T51118F01 | 25A1015Y

Q519a,b 48T60531F01 | 2SC27040, Y
Q520a,b 48T60532F01 | 25A11440, Y
Q521a,b 48T60555F01 | 25C3298 O, Y
Q522a,b 48T60556F01 | 2SA1306 O, Y
Q523a,b 48T60533F01 | 2SC3281 R, O
Q524a,b 48T60534F01 | 2SA1302 R, O
Q525a,b 48T60533F01 | 2SC3281 R, O
Q526a,b 48T60534F01 | 2SC1302R, O
(Diode, LED, Varistor)

D510a,b 48T51117F01 | 151553

D511a,b 48T60971F01 | LTZ-R15 LED
D512a,b 48T60971F01 | LTZ R15 LED
D513a,b 48T51117F01 | 1S1553

D514a,b 48T53389F02 | STV-3H Y Varistor
D515a,b 48T51117F01 | 151553

D516a,b 48T51117F01 | 151553

D517a,b 48T51117F01 | 151553

D518a,b 48T51117F01 | LS1553

(Capacitor)

C510a,b 21S40655F25 | 150pF

C511a,b 08T55119F25 | 47pF 50v
C512a,b 23S40657F10 | 10uF 16V
C513a,b 08T55119F30 | 68pF

C514a,b 21S40655F11 | 10pF

C515a,b 21540655F11 | 10pF

C516a,b 08S40805F11 | 0.0022uF

C517a,b 08S40805F11 | 0.0022uF

C518a,b 08C42195G21 | 82pF 125v
C519a,b 08S40656F25 | 0.1uF

C520a,b 08C42195G21 | 82pF 125v
C521a,b 08C42195G20 | 47pF 125v
C522a,b 08C42195G20 | 47pF 125v
C523a,b 23541198U39 | 100uF 100V
C524a,b 23S41198U39 | 100uF 100V
C525a,b 08T44481F61 | 0.1uF

C526a,b 08T44481F61 | 0.1uF

C527 23T55290F02 | 10000uF 5V




vOoL-X1

Syl\?; bol Stock No. Description Syr\T; bol Stock No. Description
C528 23T55290F02 | 10000uF 75V E1| |R526a,b | 06S44593P85 |6.8K 1/4W Rd
C529ab | 23S40657F28 | 1uF 50V El1| |R527a,b | 06S44593P89 | 10K 1/4W Rd
(resistor) R528a,b 06S44593P89 | 10K 1/4W Rd
R510a,b | 06S44593P41 | 100 1/4W Rd| |R529a,b | 06T55175F59 | 560 1/2W Rm
R511ab | 06S44593P17 |10 1/4W Rd| [R530a,b | 06T55175F17 |10 1/2W Rm
R512ab | 066S44593P17 |10 1/4wW Rd| |R531a,b | 06T55175F17 |10 1/2W Rm
R513a,b | 06S44594P06 | 47K 1/4W Rd| |R532a,b | 06T55175F51 | 270 1/2W Rm
R5l4ab | 06S44593P87 |8.2K 1/4w Rd| |R533a,b | 06T55175F17 |10 1/2W Rm
R515a,b | 06D40801G31 |47 1/2w Rd| [R534a,b | 06T55175F17 |10 1/2W Rm
R516ab | 06T55175F17 |10 1/2W Rm | |R535a,b | 66T51107F01 | 0.22x2 5W Rc
R517a,b | 06D40802G06 |56K 1/2w Rd | |R536a,b | 06T511067F01 |0.22x2 5W Rc
R518a,b | 06T55175F43 | 120 1/2W Rm| |R537a,b | 06T55175F17 |10 1/2W Rm
R519a,b | 06S44594P38 1M 1/4W Rd | |R538a,b | 06T55175F17 |10 1/2W Rm
R520a,b | 06D40801G67 | 1.5K 1/2W Rd| |R539a,b | 06T55175F47 | 180 1/2w Rm
R52la,b | 06S44593P73 | 2.2K 1/4W Rd| |R540a,b | 06T55175F47 | 180 1/2W Rm
R522ab | 06S544593P61 | 680 1/4W Rd| |R54la,b | 06T55175F47 | 180 1/2W Rm
R523a,b | 06T55175F41 | 100 1/2W Rm| |R542ab | 06T55175F47 | 180 1/2W  Rm
R524ab | 06T55175F41 | 100 1/2W Rm| |R543 06D40801G95 | 22K 1/2W Rd
R525a,b | 06S44593P85 | 6.8K 1/4W Rd| |R544ab | 06T55177F13 |6.8 1w Rm
Tone Control PCB Parts List
Sy'\T;bOI Stock No. Description
C6llab | 08S40656F17 |0.022uF My
C612ab | 21S40655F17 | 33pF Ce
C6l3a,b | 23T42478F09 | 4.7uF 25V LN Ce
C6ldab | 21S40655F29 |330pF Ce
C615 08S40805F21 |0.022uF Ce
C616 23S41198U42 | 220uF 25V El
c617 23S41198U42 | 220uF 25V El
C618 08S40805F21 |0.022uF Ce
C619 08S40805F21 |0.022uF Ce
C620 08S40805F21 | 0.022uF Ce
(Resistor)
R60lab | 06D40801G71 [2.2K 1/2W Rd
Symbol i R602ab | 06S44594P30 | 470K 1/4W Rd
No. Stock No. Description R603ab | 06S44593P85 | 6.8K 1/4W  Rd
(VR, Rotary) R604a,b | 06S44594P38 | 1M 1/4W Rd
VR601 18T53213F02 | 100KAX2 loudness R605a,b | 06S44594P02 |33K 1/4W Rd
VR602 18T53213F03 | 250KMN balance R606a,b | 06S44593P59 | 560 1/4W Rd
VR603 18T60516F01 | 50KBx2 treble R607a,b | 06S44594P30 | 470K 1/4W Rd
VR604 | 18T60515F01 | 100KBx2 bass R608a,b | 06S44593P69 | 1.5K 1/4W Rd
(IC) R609a,b 06S44593P71 | 1.8K 1/4W Rd
1C601 51T53311F01 | 4562D-D R610ab | 06S44593P71 |1.8K 1/4W Rd
1C602 51T53311F01 | 4562D-D R6llab | 06S44593P95 | 18K 1/4W Rd
(Capacitor) R612a,b | 06S44593P95 | 18K 1/4w Rd
C60lab | 23T42478F05 | 10uF 16V LN El| |R613a,b | 06S44594P38 | 1M 1/4w Rd
C602a,b | 21S40655F19 | 47uF Ce| |R6l4ab | 06S44593P77 | 3.3K 1/4w Rd
C603a,b | 23T42478F05 | 10uF 16V LN El| |R615a,b | 06S44594P38 | 1M 1/4w Rd
C604ab | 21S40655F17 | 33pF Ce! |R616a,b | 06S44593P75 | 2.7K 1/4W Rd
C605a,b | 23T42478F09 | 4.7uF 25V LN El| |R617a,b | 06S44594P14 | 100K 1/4W Rd
C606a,b | 21S40655F09 | 47pF Ce| |R618ab | 06S44594P30 | 470K 1/4W Rd
C607a,b | 23T42478F05 | 10uF 16V LN El| |R619ab | 06S44593P59 | 560 1/4W Rd
C608a,b | 08T52448F07 | 0.00056ufF Pp| |R620ab | 06S44594P30 | 470K 1/4W Rd
C609a,b | 08T52448F07 | 0.00056uF Pp| |R62lab | 06T55175F49 |220 1/2W Rd
C6l0ab | 08S40656F17 | 0.022uF My | |[R622ab | 06T55175F49 | 220 1/2W Rd

—17—




VR Cont PCB Parts List

Syﬁ; bol Stock No. Description
(VR, Rotary)
VR651 | 18T60518F01 | 100KBx2 VOLUME
(Capacitor)
C651a,b | 08S40656F04 | 0.0018uF My
C652a,b | 08540656F19 |0.033uF My
(Resistor)
R65lab | 06S44593P71 |1.8K 1/4wW Rd
R652a,b | 065S44593P83 |5.6K 1/4W Rd
R653a,b | 06544593P81 | 4.7K 1/4W Rd
Filter SW PCB Parts List
Sy’\r};bol Stock No. Description
(Switch, Push)
SW680 40T60519F01 | SUL 6KEY TAPE
SW681 40T60519F01 | SUL 6KEY DUBBING
SW682 40T60519F01 | SUL 6KEY TONE IN
SW683 40T60519F01 | SUL BKEY BASS
SW684 40T60519F01 | SUL 6KEY TREBLE
SW685 40T60519F01 | SUL 6KEY MIC
(Resistor)
R680 06544594P38 | 1M 1/4W Rd
R681 06544594P38 | 1M 1/4W Rd
IR Pre Amp PCB Parts List
SyI\T:) bol Stock No. Description
(Capacitor)
C751 23S40657F10 | 10uF 16V El
C752 21S40655F30 | 470pF Ce
C753 23S40657F14 | 100uF 16V El
C754 08S40805F07 | 0.001uF Ce
C755 23S40657F31 | 4.7uF 50V El
C756 23540657F10 | 10uF 16V El
C757 08T52448F25 | 0.0033uF Pp
C758 08S40656F25 | 0.1uF My
C759 23S41198U56 | 470uF 16V El
C760 23S41198U56 | 470uF 16V El
(Resistor)
R751 06S44593P97 | 22K 1/4wW Rd
R752 065S44593P97 | 22K 1/4W Rd
Symbol StockNo Description R753 06S44593P73 | 2.2K 1/4W Rd
No. ‘ R754 06S44594P46 | 2.2M 1/4W Rd
{Coil, Peaking) R755 06S44593P77 | 3.3K 1/4W Rd
L751 | 24T56009F01 | M-10B R756 06S44593P01 |2.2 1/4W Rd
(1c) R757 06S44594P30 | 470K 1/4W Rd
1C751 | 51T51506F01 [ uPC1373H R758 065S44593P41 | 100 1/4wW Rd
(Transistor & FET) R759 06544594P22 | 220K 1/4wW Rd
0751 48T51539F01 | 2SK117Y FET R760 065S44594P02 | 33K 1/4wW Rd
0752 48T51118F01 | 2841015Y R761 06S44594P22 | 220K 1/4w Rd
(Dio de) R762 06544594P42 | 1.5M 1/4W Rd
D751 48T43189F01 | 151555 R763 06544593P73 | 2.2K 1/4W Rd
D752 48T60522F01 | TPS703 Photo R764 06544593P81 |4.7K 1/4W Rd
D753 48T43189F01 |1S1555 R765 06T55175F41 | 100 1/2wW Rm

—18—




FL—Peak Ind. PCB Parts List

Sy|\rl1'(1)bol Stock No. Description

D711 48T52739F47 | HZ7B-2 Zener

D712 48T43189F01 | 151555

D713 48T43189F01 | 151555

(Capacitor)

c701 23S40657F14 | 100uF 16V El
C702 23S40657F10 | 10uF 16V El-
C703 23S40657F13 | 47uF 16V El
C704 23S40657F13 | 47uF 16V El
C705 23S40657F10 | 10uF 16V El
C706 23S40657F30 |3.3uF 50V El
C707 23S40657F30 | 3.3uF 50V El
C708 08S40656F01 | 0.00tuF My
C709 23S40657F28 | 1uF 50V El
c710 23540657F13 | 47uF 16V El
c711 23S40657F08 | 10uF 16V El
C712a,b 08S40656F12 | 0.0082uF My
C713a,b 23T42478F18 | 0.1uF 50V LN El

Symbol L (Resistor) .

No. Stock No. Description R701 06S44593P49 | 220 /AW Rd
(FL Meter) R702 06S44593P49 | 220 1/4W Rd
FL701 | 65T60523F01 | FIPI2FW7YS R703 06S44593P61 | 680 1/4W Rd
(Variable Resistor) R704 06544593P89 | 10K 1/4W Rd
VR70la,b | 18B44064J01 | 470B 1/2W R705 06S44593P89 | 10K 1/4W Rd
(Trans, Power) R706 06S44594P06 | 47K 1/4wW Rd
T701 [ 25T60525F01 | P-7017 R707 065S44593P81 | 4.7K 1/4W Rd
(c) R708 06S44593P89 | 10K 1/4W Rd
IC701 51T53313F01 | TA7318P-L R709 065S44593P61 | 680 1/4W Rd
iC702 51T60524F01 | LC7555 R710 06T55175F25 | 22 1/2W Rm
(Transistor) R711 06S44593P63 | 820 1/4W Rd
Q701 48S43525F05 | 2SC1815Y, GR R712 06T55175F53 | 330 1/2W Rm
Q702 48T51118F01 | 2SA1015Y R714 06S44594P08 | 56K 1/4W Rd
Q703 48543525F05 | 2SC1815Y, GR R715 06S44594P22 | 220K 1/4W Rd
Q704 48S43525F05 | 2SC1815Y, GR R716 06S44594P38 | 1M 1/4W Rd
(Diode) R717 06S44594P38 | 1M 1/4W Rd
D701 48T55186F01 | GP1OD R718 065S44593P97 | 22K 1/4W Rd
| D702 48T55186F01 | GP1OD R719 06544593P97 | 22K 1/4W Rd
D703 48T52739F47 | HZ7IB-2 Zener R720 06S44594P06 | 47K 1/4wW Rd
D704 48T52739F32 | HZ5C-2 Zener R721 06S44593P39 |82 1/4W Rd
D705 48T43189F01 | 1S1555 R722 06T55175F57 | 470 1/2W Rm
D706 48T43189F01 | 151555 R723 06T55175F57 | 470 1/2wW Rm
D707 48T43189F01 | 1S1555 R725a,b 06S44593P63 | 820 1/4W Rd
D708 48T52739F62 | HZ11A-2 R726a,b 06S44593P61 | 680 1/4W Rd
D709 "48T43189F01 | 151555 R727a,b 06S44594P04 | 39K 1/4W Rd
D710 48T43189F01 | 151555 R728a,b 06544593P65 | 1K 1/4W Rd

HD Phone PCB Parts List
Syr\:r; bol Stock No. Description

(Jack, HD Phone)

[09T56010F01 | M1669

J-1

—19—




REM Display PCB Parts List

Sy,\:r; bol Stock No. Description
D813 48T60554F01 | LED, SLP144B YEL
D814 48T43189F01 | 151555
(Capacitor)
C801 23S40657F10 | 10uF 16V El
C802 23S540657F12 | 33uF 16v El
C803 23540657F12 | 33uF 16v El
C804 23S40657F27 | 0.47uF 50V El
C805 23S40657F10 | 10uF 16V El
C806 23S40657F27 | 0.47uF 50V El
C807 23S40657F10 | 10uF 16V El
C808 23S40657F10 | 10uF 16V El
C809 23S40657F10 | 10uF 16V El
(Resistor) .
R801 06S44593P49 | 220 1/4w Rd
R802 06S44593P97 | 22K 1/4W Rd
R803 06S44593P89 | 10K 1/4W Rd
Symbol Stock No Description R804 06544593P65 | 1K 1/4W Rd
No. ) R805 065S44594P38 | 1M 1/4W Rd
(ic) R806 06544593P95 | 1.8K 1/4wW Rd
1C801 | 51T51086F06 \BA6125 R807 06S44594P38 | 1M 1/4wW Rd
(Transistor) R808 06S44593P97 | 22K 1/4wW Rd
Q801 48S43525F05 | 25C1815Y, GR R809 06S44593P79 | 3.9K 1/4W Rd
Q802 48S543525F05 | 2SC1815Y, GR R810 06S44593P73 | 2.2K 1/4W Rd
Q803 48543525F05 | 2SC1815Y, GR R811 06S44594P06 | 47K 1/4W Rd
Q804 48S43525F05 | 25C1815Y, GR R812 06S44594P02 | 33K 1/4W Rd
Q805 48S43525F05 | 25C1815Y, GR R813 06544594P14 | 100K 1/4W Rd
(Diode, LED) R814 06S44593P17 |10 1/4W Rd
D801 48T43189F01 | 151555 R815 06S44593P97 | 22K 1/4W Rd
D802 48T43189F01 | 151555 R816 06S44593P57 | 470 1/4w Rd
D803 48T43189F01 | 151555 R817 06S44593P57 | 470 1/4w Rd
D804 48T43189F01 | 151555 R818 06S44593P65 | 1K 1/4W Rd
D805 48T43189F01 | 181555 R819 06544593P71 | 1.8K 1/4W Rd
D806 48T43189F01 | 181555 R820 065S44593P89 | 10K 1/4wW Rd
D807 48T61135F01 | LED, SLP244B GRN R821 06D40801G59 | 680 1/2w Rd
D808 48T61135F01 | LED, SLP244B GRN R822 06D40801G59 | 680 - 1/2w Rd
D809 48T61135F01 | LED, SLP244B GRN R823 06D40801G59 | 680 1/2w Rd
D810 48T61135F01 | LED, SLP244B GRN R824 06D40801G59 | 680 1/2w Rd
D811 48T61135F01 | LED, SLP244B GRN R825 06D40801G59 | 680 1/2w Rd
D812 48T50885F01 | LED, SLP144B RED R826 065S44593P33 | 47 - 1/4W Rd
Tact SW PCB Parts List
Syl\'i':)bOI Stock No. Description
(Switch, Push)
Swssl 40T53211F01 | SPQO09B
Swgs2 40T53211F01 | SPQO09IB
Sw883 40T53211F01 | SPQOO9IB
Swss4 40T53211F01 | SPQO09B "
SwW885 40T53211F01 | SPQO09IB
SW886 40T53211F01 | SPQO09B
SwW8s7 40T53211F01 | SPQO09B
Swass 40T53211F01 | SPQ009B
Sw889 40T53211F01 | SPQO0SB
SW890 40T53211F01 | SPQO09B
Swg9l 40T53211F01 | SPQO09B

—20—




3D Display PCB Parts List

82080517703 | SyI\T; bol Stock No. Description
C852 23S40657F10 | 10uF 16V El
C853 23S40657F10 | 10uF 16V El
(resistor)
R851 06S44594P14 | 100K 1/4W Rd
R852 06S44594P14 | 100K 1/6W Rd
R853 06S44594P14 | 100K 1/4W Rd
R854 06544594P14 | 100K 1/4W Rd
R855 06S44594P14 | 100K 1/4W Rd
R857 06S44593P97 1/4W Rd
R858 06S44594P97 | 22K 1/4W Rd
R859 06S44593P97 | 22K 1/4W Rd
R860 06S44594P14 | 100K 1/4W Rd
R861 06S44594P14 | 100K 1/4W Rd
R862 06S44594P14 | 100K 1/4W Rd
mbol N R863 06S44593P97 | 22K 1/4wW Rd
syNo.0 StockNo. Description R864 06S44594P02 | 33K 1/4W  Rd
(Transistor) » R865 06544593P97 | 22K 1/4W Rd
Q851 48S43525F05 | 2SCI815Y, GR R866 06S44594P02 | 33K 1/4W Rd
0852 43S43525F05 | 2SC1815Y, GR R867 06S44593P97 | 22K 1/4W Rd
Q853 48543525F05 | 25C1815Y, GR R868 06S44594P02 | 33K 1/4W Rd
0854 48S43525F05 | 25C1815Y, GR R869 06S44593P97 | 22K 1/4W Rd
Q855 48S51118F01 | 2SA1015Y R870 06S44594P02 | 33K 1/4W Rd
Q856 48T51118F01 | 25A1015Y R871 06S44593P97 | 22K 1/4W Rd
Q857 48T51118F01 | 25A1015Y R872 06S44593P73 |2.2K 1/4W Rd
Q858 48T51118F01 | 2SA1015Y R873 06S44593P75 |2.7K 1/4W Rd
Q859 48S43525F05 | 2SC1815Y, GR R874 06S44594P14 | 100K 1/8W Rd
Q860 48T51118F01 | 25A1015Y R875 06544594P02 | 33K 1/4W Rd
(Diode, LED) R876 06S44593P73 |2.2K 1/4W Rd
D851 48T43189F01 |1S1555 R877 06S44593P75 |2.7K /4w Rd
D852 48T43189F01 | 151555 R878 06S44593P73 |2.2K 1/4W Rd
D853 48T60554F01 | LED, SLP444B YEL R879 06S44593P75 |2.7K 1/4W Rd
D854 48T60554F01 | LED, SLP444B YEL R880 06S44594P14 | 100K 1/4W Rd
D855 48T60554F01 | LED, SLP444B YEL R881 06S44594P06 | 47K 1/4W Rd
D856 48T60554F01 | LED, SLP444B YEL R882 06S44594P06 | 47K 1/4W Rd
D857 - 48T60554F01 | LED, SLP444B YEL R883 06S44593P67 | 1.2K 1/4W Rd
D858 48T60554F01 | LED, SLP444B YEL R884 06S44593P73 | 2.2K 1/4W Rd
D859 48T60554F01 | LED, SLP444B YEL R885 06S44593P75 | 2.7K 1/4W Rd
D860 48T51118F01 | 25A1015Y R886 06S44593P73 | 2.2K 1/4wW Rd
D861 48T50885F01 | LED, SLP144B RED R887 06S44593P75 | 2.7K 1/4W Rd
(Capacitor) R888 06544593P73 | 2.2K 1/4wW Rd
C851 | 23S4657F10 | 10uF 16V El| R889 06S44593P75 | 2.7K 1/0W . Rd
] Function SW PCB Parts List
2 Sy':l11 bol Stock No. Description
899 0. i
2 > SW899 40T52952F01 | KHC10903 PHONO
% : e SW900 40T52952F01 | KHC10903 MONITOR
R e el 8 <) (LED)
T 3y P D895 48T52953F01 | BR3432S RED MM
- T O e o —) D89% 48T52953F01 | BR3432S RED MC
Symbol i D897 48T52953F01 | BR3432S RED TUNER
No. StockNo. Description D898 48T52953F01 | BR3432S RED AUX
(Switch) D899 48T52953F01 | BR3432S RED PHONO
SW895 40T52952F01 | KHC10903 MM D900 48T52953F01 | BR3432S RED MONITOR
SW896 40T52952F01 | KHC10903 MC (Resistor)
SW897 40T52952F01 | KHC10903 TUNER R895 06D40801G57 | 560 1/2w Rd
SW898 40T52952F01 | KHC10903 AUX R896 06D40801G57 | 560 1/2wW Rd

21—




SP. Terminal PCB Parts List

Sy'\rlr;bol Stock No. Description
(Terminal, SP)
T902 [ 09T60544F01 | T5887
Servo SW PCB Parts List
g Sy'\r:;t‘)ol Stock No. Description

(Switch, Push)
SW01-902 [ 40T60520F01 | SUL 2KEY-2 SERVO/REMOTE

AC Relay PCB Parts List |
Syl\T; bol Stock No. Description ‘
. (Relay)
: RL951 80T55299F01 | GAW1112P-1001M
RL952 80T55299F01 | GAW1112P-1001M
. o (Capacitor)
8g %, 951 | 08T57437F09 | DE7150 FZ 103P
o 3 N
g3 . (Diode)
ax D951 48T55186F01 | GP1OD-AX
i D952 48T55186F01 | GP1OD-AX
(Fuse)
F951 | 65T42077U13 [ T-500mA (AK)
(Holder, Fuse)
F951 [ 09T51410F01 | Semko(AK)
Power SW PCB Parts List
Syl\T:) bol Stock No. Description
(SW, Push)
SW999 | 40T55293F01 | SULI2IA




Trans Mitter PCB Parts List

'r & = 5 ! Sy,\r:;bOI Stock No. Description
| = : 2 ] SW19__ | 40T52951F01 | KHCI0901
& EElEd s D - [ao)
1 S == 5 e | IC101 [ 51T60546F01 [ TC9132P
%_- S o "gim : ° b | €0 *gi (Transistor)
71 L'"?ft ® : 2 QoL 48T51089F01 | 2SA937Q, R
! *ﬁ S d = E L Qo2 48T51089F01 | 2SA937Q, R
; ey . Q03 48T43015U01 | 2SC2120Y
- AL : 2 (Resonat, Ceramic)
v = it —— | o X01 | 91T55305F02 [ CSB455EB
A R e T AL s i— .- (LED)
D01 48T40502U01 | TLR226
Symbol . D02 48T60547F01 | TLN105A
No. Stock No. Description D03 48T60547F01 | TLN105A
(Switch) (Capacitor)
SWo1 40T52951F01 | KHC10901 co1 23541198U33 | 100uF 10V El
SW02 40T52951F01 | KHC10901 C02 21S40655F23 | 100pF Ce
SWO03 40T52951F01 | KHC10901 C03 21540655F23 | 100pF Ce
SW04 40T52951F01 | KHC10901 co4 08S44505P63 | 0.022uF Ce
SW05 40T52951F01 | KHC10901 C05 08S44505P63 | 0.022uF Ce
SWO06 40T52951F01 | KHC10901 C06 08544505P63 | 0.022uF Ce
SW07 40T52951F01 | KHC10901 co7 08544505P63 | 0.022uF Ce
SW08 40T52951F01 | KHC10901 c08 08S44505P63 | 0.022uF Ce
SW09 40T52951F01 | KHC10901 C09 08S44505P63 | 0.022uF Ce
SW10 40T52951F01 | KHC10901 C10 08S44505P63 | 0.022uF Ce
swil 40T52951F01 | KHC10901 (Resistor)
SWiz2 40T52951F01 | KHC10901 RO1 06544593P89 | 10K 1/4w Rd
SW13 40T52951F01 | KHC10901 RO2 06S44593P89 | 10K 1/4W Rd
swil4 40T52951F01 | KHC10901 RO3 065S44593P53 | 330 1/4W Rd
SW15 40T52951F01 | KHC10901 RO4 Jumper Wire
SW16 40T52951F01 | KHC10901 RO5 06S44593P01 | 2.2 1/4W Rd
SW17 40T55313F01 | Tact KHE10901 RO6 06S44593P01 | 2.2 1/4W Rd
SW18 40T52951F01 | KHC10901 RO7 06544593P51 | 270 1/4W Rd
Remarks
Resistor:

Rd... Carbon, Rm. .. Metal Film, RC...Cement, Ne ... Network
Capacitor:

El... Electrolytic, Ce ... Ceramic, My . .. Mylar, Pp . . . Polyproplene,
Ne ... Network, LN ... Low Noise, Po , .. Polystyrene, Mi ... Mica

—23—




IC Handling Guide

uPC1237H

Bipolar Analog Integrated Circuit

FTTTTT

TC9132P

TC9134P

Remote Control

Remote Control

xr K2 SP,
Xy 2 8Pz
c, NAs 8Py
c, B¢ SP,
Cs 5 SP,
HPs Qs 3
Brs |+ SP,
HP . 8 SP,
HPs 9 SP,
HP, SPo
HP, 8P,
PW OV, OFF 8P,
EX, SP,s
EX, 8P
/4 out 8P,
Rxin 8P
cP, 5P,
cP, 8P)s
SP22 SPyp
SPa SP 0
Vop GRD

TC9135P

6 ch Function Switch

GND
out-1
Out-2
OQut-3
Out-4

[ RS I NI T SR

Vee

1 Over Load
' Detector I
2 Off Set
Detector

Relay Driver-

AC Off
Detector

Flip-Flop Circuit

TEST 4D | Divider

Vop

GND | Timlng Pulsa
Generator

xr X¥

Vpp  GND
&)
A= A4

‘ osc H Timing Pulse Generator
™ 5
o 3 5 ]
cz(’ 5 ' 3 *., &
c3 8 G 5 H
/X @ I Shift Reslstor
— |
5
5 j) Date Decorder
H
o
TITT L]

<>
DIA
Converter|

D/A Control
23
)
X1 EX2

€ D/A OUT

GND

S
———————

|

FF @ 1

1
3 |
& FFQ
£ |
8 I
«

FP a \
_________ -
________ -

|
1
|
|
SO |

—24—

Out-3

KS

outs
Out6
Out$




TD62004P

Darling ton Driver
O3 04 O Og O3 COMMON

MS50601P

6-bit up/down Counter D-A Converter

im L8«
2 5 Vo
RESET Vg ‘—-«M,J—(_l—
3 |ne vppHe 045V
>—4lpreser Nc |13
>—8 | memory Nc | 72
11
6 | nc Vss
1
=L powN Xy ik
(=)
_Lo—s up XouT 2 T 4
/i

LC7817

Analog Function Switch

M51133P

Voltage Gain Control Amplifier

-/

INT  [T] 4 IN2
VEE [2] i3] Vee
ne [ i NC
ouT1 [ wms113r [ ouT2
nec  [5] ﬁo] N.C
BaL [ @ voL
N.C (8] GnD

Vo

COMMON
OUTPUT
GND
XiN "
0scC Divider D-A Convertor
Xout
RESET O— T
up O —  Up/Down . 6-bit up/down
Chattering —»
DOWN O——=»{ Contro} Counter
MEMORY O—=» Memory
L O > Preset Data Preset
M O—s= Generator Control
O
PRESET

Vpp Vss VEE

i

cownoT A == l com2
Al l ; - B ; : I A2
B1 ""l_:_g:s_‘:~ c Iz ; [ B2
c1o|—‘g§—-— b i c2
Dlo—— ' ¢4 & + pe D2
L_.I..J L..‘- i I
VbD TMout
- ﬁiﬁT
TMino——t [ TMCTL
aino) 2] |
-) |
Bmc'—f 8 5ol = 'r—ol Aout
| 24 [t R I [ B
Cin Ig” Z |sqle |4 _'5d_|° out
h O |+R I L
Dino s O Taut
|£'3§ 5 Cam i
RESET | % D = _ILII et
AUTERoA——| |9 HE
|
CRDEQ;: MUTE VEE
CONTROL MUTE
L7 1TimMER
X3 bilateral switch
VOLUME J
CONTROL
IN2 vee NC ouUT2 N.C voL GND
4
CA2
! DC CONTROL
i VCA1
i [/\/ ’_l
E@ —o @ —® —®- —@-
ouUT1 N.C BAL N.C
(BALANCE)
CONTROL




Schematic Diagram(1)

-4
2 &,
5 8 & 2 2
3 B
&z _._r_ . ) MAIN - AMP -
g 2 34 T-4  EQUALIZER - AMP Mm @ 84D60530F01 @ S
84D60543F01 s o -3 SPEAKER-SW 2 i3
SUB-WOOFER AMP Y/ ¢/ MONO_H! _ LO_ 32K b3 5 SW4T1 3 i
CIRCUITS  LIST 84D60S43F03 | Y ] A-3 Ffs MMag & i & 5z |2 .
[ AR <4 i< = =4 <t 3 o
Znd PAGE S ] i T =1 3D DISPLAY § * & MT N 2
°POWER SUPPLY. 840D60530F02 3P/ i Jy QU P D-5 (SOURCE) = M-1 g
© SUB-WOQFER AMP 84D60543F03 T-3 ; ' ! ¥ . 84D60517F03
MONITOR i RL1 a
© VOLTAGE CONTROLLED AMP 84 D60543F02 [FOWER SUP. & : = Lo RUI0Z eS| B, ad
O TACT SW 84 D60548F02 mm L.... CONTROL _D-2 6P] Q-1 L103 W ” H
° SERVO - SW 84DB0548F04 83 & 3 < RESISTOR FoR vszm.Dﬂm-_
~FACE MOTOR -----—- H ANALOG s FUNCTION P
© SERVO ~ FACE MOTOR BUE MIX : e BUF. 3 TACT-SW ToGIe .
1 £ 84D60548F02 S HD PHONES Y
3rd PAGE e 2 ¥ &2 i‘l_lrmb i 84060845707 LTS
J 1 1 =
©MAIN AMP 84D60530F01 = wwmo»m-mmm.w sw Al N
-l S-1 o~ - QF04 1 2
© MAIN-DRIVE AMP (L) 84D60517F06 ey 3 'l ' .|_1= _.._.r 2
© MAIN -DRIVE AMP(R) 84D60517F07 - Mm-mmmomm%m—%._o_mow s ° e Tle o LA =
°VR CONTROL AMP 84D60517F08 - B Deo HeaER
© TURN-OVER SW 84D 60517F 09 @ 22 |» @
S FL-PEAK METER 84D60517F04 @ .WW Zr .
© 3D DISPLAY 84D60517F 03 | s B 3 BE l _ L-2 P FUNCTION-SW
©REMOTE CONT. DISPLAY 84 D60517F 02 ¢ 8 3| 183 Logic BUFF. BUFF. |- |Lose 7P L supsossarcs L
© SPEAKER SW 84 D60530F04 g3 1 8 23 L e
©HEAD PHONES 84D60543F07 — ] T4 @ 123 bt m " ¥
© SPEAKER TERMINAL 84D60543F 05 - = 2 BUFF. = AC-RELAY 1 (=
S BASS B &2 S 84060543F06 et
5- LA
- POWER 0-3 A
o
1
4th PAGE o 2 FTONE |o8 su POWER TRANSFORMER
o - z BUF T 2 SELECTOR
EQUALIZER AMP 84D60543F01 RE 0 z 84D60530F02 RECTIFIER
° | NFRA-RED PRE-AMP 84D60530F05 VOLUME DINTERMINAL iy
°DECODER 84D60543F04 3
84D60548F05
© SELECTOR 84D60530F 03 o o s 0-6 G
°POWER SW 84060530F05 R AN a
° FUNCTION Sw 84D60548F05
b DECODER
84D60543F04 @
a-2
s =5 26 [loeconer
(REMOTE-
c-2 c-2 | CONTROL) R
4P SERVO SW REM.DISPLAY 2
84DEOSABF04  84DB0317F02 k-2 IR PRE/AMP "2 «
= SW901 IXER z
RVO . 5P
SW502 b
...... SiGNAL PROC | -3 P > & P El =
R G-1 2 A TEE
SW202 2
VOLTAGE CONTROLLED AMP. Zh L POWER SUPPLY
84D60543F 02 ¢ Motz m o K i -1 |F'  gupeos30F02 POWER TRANSFORMER
- W i1 WP 1 SERVO-FACE MOTOR 25756008F 02
| B
5 i = ! m e m—mm e m e
b4 > i i
5 % Lo Ay
< o-f i ~24QV |
o & oI5 i | ac-RELay s
: ! | 84DS0S43FO06__ D\
POWER -SW HE | | 1
84D60530F05 H ! ) I
e e e e Lumwma oo S 1 !
T 3 ] !
1 i i it e e it bttt B
| 1 [ 1
! 1
! RSS 22K 1 SWOS  Swi2  SWIE SW19 | 1 SWITCHED
" LS " S o (9 °7 © o o T_|./LA ” “ i OUTLET “
| x w Bio — — KEYMATRIX  CH NO
[ 2 eeilSih @8 | 5 B b s Rl (881, el G = vorvomn  Kketr 2 b b i
S SWO06 Lo ¢ 5 = - 5 3 s
AL Z 2 #3 m% | oo Swit] Swf] [$edd] 1-3|4 A LE2R 180s B, H swozmMoNToR ki T4 3 1] Q0! "
o =T SW03 5 5¢ 5¢ 100F, -q |8 SW03 VOL DOWN K7 T3 T4AR20,200
[ 2 ofss < HE] 1 | 5 wit] Tw8] Eud?] |, 1 M S | <. SWO04 VOL UP K7 T4 27 | ! o 3>m85 "y
1 OF 5o 1 SWO4 T-4 RO1 10K QU\,\ SWOS TUNING DOWN K7 T1 24 ] g '3 1
1 a2 o+ I _ 5 18} o Sw06 TUNING UP K7 T2 25 | |2 <] f
| " T ! o * s ® | SWO7 FM kK212 5 | (|9 o :
wn ! 1 o : 6§ o 17 w SW08 SCAN K2 13 6 | @ 2 |
| | Z 2z ) | x ~B z w
) = & o ] x| 3 52 SW09 A/B K2 T4 7 I 1
H T2 o3 3 ! | 3 72 16 £33 SW10 DAD/AUX ki T2 1 | |E @ H
! 2 B 4 1 [ * 8 151 - Sngeda SWi1 START/CUT KS T3 18 | | z |
| | o g e © SW12 CUE kS T1 16 1 ri} m \
! 7 7 ! H s s © 4 E SW13 FF k3 T4 o 1%
! ! | ~ r SW14-PLAY KS T4 19 ) 18 |
! t \ z Lo Lol Lol 13 SW15 RW K3 13 10 | 1 1
i ! 1 2o T2 I°]° |° |_v Q03 SW16 STOP ke T1 12y | “
1 \ H |0mi; ws:w dl 12 s 2502120 SW17 REC.(PLAY) KS T2 17 1 e r |
1 MODEL RC-1 | i 1 ik l_ z SW18 AM K2 T1 a1 aE {
_r REMOTE - BOOSTER 84D60548F03 | ] [ 1 SW 19 PAUSE K& T4 35 “ " [ “ |
ekl it ettt L e e D “ C04~C10 0.022 e — REC.PAUSE Ka T2 13 ] _Mm_ [}
X! |
NOTICE 1. UNLESS OTHERWISE SPECIFIED, ALL RESISTORS ARE IN OHM, /4 WATT, ALL CAPACITORS ARE IN MICRO FARAD. " “ " Mm“ 1
2. UNLESS OTHERWISE SPECIFIED, DIODES ARE SILICON TYPE, 1S1553 OR MA-150. | 1 "mm" “
1
3. TRANSISTORS AND DIODES MAY BE REPLACED WITH ANY HAVING COMPARABLE RATINGS. | NFRARED TRANSMITTER MODEL  RC-104 84D 60546 01 | |
4. DUE TO CONTINUED IMPROVEMENTS LUXMAN RESERVE THE RIGHT TO ALTER THE CIRCUITS OR SPECIFICATIONS. e i G S S e e e R " “
9 INDICATES SAFETY CRITICAL COMPONENTS. N |

P 1X-104

FOR CONTINUED SAFETY REPLACE SAFETY CRITICAL COMPONENTS ONLY WITH
MANUFACTURER'S RECOMMENDED PARTS.

AFTER SERVICING APPLIANCE AND BEFORE RETURNING TO THE CUSTOMER,
CONFIRM THE INSULATION BETWEEN EACH BLADE(OR PIN) OF POWER
CORD PLUG AND CHASSIS IS MORE THAN 10 MEGOHMS.

26—

AK-VERSION




Schematic Diagram(2)

PRE'OUT MAIN IN
LR
s [rmmmmm oo mm o ——mmmmmmmme R A < " -
ge SIGNAL PROCESSING . . MON-IL
g | (150mv)
8 w202 ! ous MONITOR  10. FIL.
&5 u RL156a  RL151a  RL1S2a
23 ) T 5 MON-IR
= 10-10V g4 x ; 2 (50mv)
{28 N 8T8
S8 OoN OFF cuw REC-IL : i
9 _ MAIN- AMP i M__Jm@n .m‘:N " yrta
- H— i 84D60530FO1 1 0A@ R172a1
-2 H—12 - ' ! wﬁlqozm CONTROL
o-loves o REC-1R ' ' 7 84D60517F01
2R a201b ! 8 o
25C2878 Q2020 '
7 Q) | R212b 251015 MON 2L [
. R215b (150mV) y
3 470K 470K N% _amw% s/
z W v
3 2 ol x SELECTOR MON-7R ! ! 1 43
of o D203 INL00S g8 ax £38 84060530703 050mV) 'RUIS6b  IRLISIH ' RL1S2b | RLISIBM | RUISGD
&ao b3 sw201 i 283 —=% ' T ! A-3_ EQUALIZER
ws P = 382 21 ! i H 84D60543F01
i T Q2010 g=8 ru REC-2L T : .
Se N 8L 25C2878 o 4Tk g 1_ o :
o ~ FIANANES R212a 02020 2 ¢ we o 2
& N S e W 2SA1015 o 13 b D404 2| REC-2R @ &
oms @ w\\vu 470K 8 ) wuww 228 20 u“ POWER SUPPLY . s
=2 T 2
oNomuQ\\ 2] | EFS Ao S arao | v < 0 84060530F02
25C3dss 17y 8= & ~ z Hs-
>% a% ¥ F 200-Vou] & [ e v S-1_ TURN-OVER sw
- gl ge nmmmw : 1 S T 84D60517F09
2 ¢ 7] o0 % ic1ss  5Te
€203b . R205b z o NTr R N u .W ,% M ©
~ 47-25v@® 560 2 I & £ PPC2004C" 57
b |
= S It | R23o 22K Nw
8 47K g _ ] :
e S R229 g qu : : i
mm 1 ﬂ mlw_ caono ’ Fens £213 T F] 2= 848 _ Mc 2 _ SELECTOR
z= .7 - 25V = 0.47-50V x5z 2 -
Sz ! swaow ¢ [ ] 4720 @, © 10-10 = 'me 84D60530F02
-3 Reh 12181 "M o] |a + TONE cONTROL PRYT]
5 ! 1o3aeS 550 S % 1312 u 0 9 8 ® 15 %13 o2 11 8406051770 B qisan i
=0 B - [ Sp—)
= & 47-25V
'L MM ] 1C201 M51133P 1C202 MS50601P 54 SRk ty nqm.mx _ﬂ
& w201 2 3 153
: g & 12 3 4 5 6 7 2 3 4 5 6 7 1
o~ €20 3 > 47-25vQ@B) LIS
. Y 4725V aw 2ol [ 23 ot
=S v R¥osq) ? SRF v S5% _‘| ) io ! VOLUME -AMP
1 ) e 560 =] S o181 RI66  C164 > @ o 84D60517F 08
5 ! K=} ~ A SuB 40 4725V E 68K 47-25V .
| i (4 Rz ~WOOFER Be. Q154 v =
B2 ; swaore 33 S0 : (800mv) @ o3| HBS 35Ciets  R1BZ 100K !
38 Rch &5 C203a  R2gsa ST« 88 o8 1 \
351 ox P Sl oG %0 Slg DECODER o @ | £ R18G 47K 5
- < ~
o3 mww mmw ggler-v@® VOLTAGE CONTROLLED AMPLIF IER £233 84D60543F 04 o ] L 40 | 81 3D OISPLAY
1 o o2 1 2 Ta E: i
: x QH 84D60543F 02 x|g €1580068 185 &7 23 2] M 84D60517F03
' mmm (R T | & 1
&
wu ST._ 5} | "+ H
lutshoeg gyl - 3 12 110 9 8 7 6_% 4 TR 5 !
1 -
POWER I 1C153  LC7817 S 1
1 ' e = 39 1
2 12v »L! 15 16 17 18 19 20 21 22 23 24 25 26 27 28 m .m D158 ]
H-1 o |=_Jo ] o)x > i 1
. uém# Brglzen: B2 | glx mﬁw - +12v FOR BACK UP |
- o - b
4 2 g & 1
ube Lo s - g 5 ‘
N S ~ i
! ™ ge !
“ > ! 58 % "
A F255 & I_|4 we w @ ol o o &
Poo2 Sl 4m‘>m€> (&) sverioo o 53 23 ald IR B 1
T3y 2 D-3 5 com  2apg 2
A o o o+ OTfew 0 [ g-2
F-2 o [5] @ | 7 3o 3D DISPLAY
i T ° 25 4 84D60517F03
T 1 85
POWER TRANSFORMER —T— 3 S8 '
! e —_PoweR - g3 SUB-WOOFER AMP.  84D60S43F03 |
9, s5v £ 15 TTTTT T T
5 ”
- o2 &5y !
) FL PEAK METER __ F3 3 B . ! e —
84D60517F 04 B 2532 !
o Lun i
JE— 5] S 0259 g ' . SERVO-MOTOR
“ m iwn 23 _ °
©o [+ =t Y e e e e e e
! 1 £33 8 Sara® | _IP Fol o= — e - ) rmm=m——- ! -
) F254 o 3 |
.- _ 2a00) | o IR T8 [T 4 : i i
)
|5 ! risa@)| &[4 [ 47% o i ; _
4 1 ©° 3 0 ' H SWa91 |
1 WS 1 8 LG L ] _ H t
1oeg i Sl B s H ) —o L_wo ! Lol 1
)93 ] 5 2 ] ! 4 1 !
i £-s & L : °©%03F ! L
I PPL P I rd-n 1 HOLD B[
Lo Ry Q260 25C2235 R287 22 “i7v 2 VOLTAGE CONTROLLED AMP. _C-3 (1 O3 ] ! SW830 o
N 84D60543F02 1 07 ! 128
ORG +18V 3 c-1 Loz 1 o T
D54 |Rzg2 : -0 LA IR o | LXKS, SELECTOR
v ol | o $v810-100 = 4 o 3 & H O— lo | a-2 84D60530F02
15KV2 ot 8 Q259 [ 1 3 A0 DISPLAY SW889 [
BLU 5 SHS 2stiens -8y 5| par o “ 84D60517F03 Q-1 s wesa Lol —2 g
(5]
YEL Sl o A E0-200 5 mw..m,@g L« e E-) I Lo
v H r_ » 1 swess | 10 -
A RED PP ) VOLTAGE CONTROLLED AMP T ! ! o H
A 1 A . R 84D60543F02 H i o |
=] (=] |a 1 F251 * casalt R L B *20v 4 REMOTE DISPLAY par 1 1 sweer| H
u 8LK I —o~-0— 220-SOVHT 220-25VH B~ cm STs oD 3 84060517F02 G-1] o2 " 1 L !
= =] I + 1o ) Ea— e o o2 H 1 o— 1
| F251 Fos2 C2527y C25%4nr T oF 2 - 20V 2 Al _ equalizeRr ! ! H
| 05AW) 20 500 22025V BERp o S8 Fzr1 17y 84060543F01 s4D60S48FOL | (S H
BLK B, Tesmam) Y] ®10 °8| 18 ° H " L “ _
A D001 | @Nﬁ.ﬁ\i@ R254D 150 __ “ SERVO - 5W ' o\ | TACT-SW 84060548F02 1
POOI 10V8-40 ' YEETA I | d b e . R SRR 4
POWER TRANSFORMER 1 ' \ (A
_—— _———
172
A\ INDICATES SAFETY CRITICAL COMPONENTS. @
FOR CONTINUED SAFETY, REPLACE SAFETY CRITICAL COMPONENTS ONLY WITH MANUFACTURER'S RECOMENDED PARTS. , N ﬂN\
o 2 AFTER SERVICING THIS APPLIANCE AND BEFORE RETURNING TO THE CUSTOMER, COMFIRM THE INSULATION RESISTANCE a P N
—l XIA h \& BETWEEN EACH BLADE (OR PIN) OF POWER CORD PLUG AND CHASSIS IS MORE THAN 10 MEGOHMS. :

—27—

N




Schematic Diagram(3)

84060543F02

||||||||||||||||| e e
IIIIIIIIIIIIIIIIIIIIIIIIII e et | pe———- !
| i - Tt - I P AL L] SPEKER-SW  84D60530F04 1
-] ————— e = - — - ] ¥
' u%m.m, T AN~ ORIVE 84D6OSITEOS | 1 o1 (N - (PROTECTOR CIRCUIT) !
1 BESs ) 0 - pr . Cs21a ] ) H
" W 1 ) 4 . jore @SH_ (TR H 1 I Bug0s
2 1 | 1 W ° _J -
d DS1ia S~o R-1
1 M I< RS230| DS1SQ R530d) —G [o _
1 WH mju.x_m ﬂo?& 151553 7 “ ,_ﬁ %%wa U R479 150K j R4gOD HD- "HONES
10- - . -1
“ o) k3 43 1 I Zcuria f 30 T
7
\ ! I £33 ! { 0047@®_ Regta | 4 Fm———————
oy PR 47K ! ,.\ G0 A o | SP TERMINAL e
! R R ES R g ! | AT esz 150k 0K 1 ©
i olgl 8|z 2y & ) 1 P _ R473 10K . R2 ! o
1 o & RN a 1 i Lcanw 00r@ LCart beC 1237 " < i — s
! 1% @ ° RS290® GOTN I cary p D473 !
& s M-5 1 ——0O
' 560 /2 &S[a A !
1 ) R519G 1M = . 3 = @ whr BLU ol
! B Y o 8=17) ' 6B-W 1\ Meg ﬂl @D
| ES v a5 B2 271 I ARSI60®L | & 7 BRN z-1 o §
1 St 15k V2 &2 Rm_w..n 02x2 %1 g \
! & nm._.Wwo 75 Py S22 8= 1 > D]r
o ¢+— = by > O~
| ELTN B8] (83 .,_WM%W Roigal  C@ 1 BRN Lo
_ £ sE RSJ6a 6K [ iA= Qszaq 180 1 .
\ B3 3] D316a ox IRs34a Rs3 as2%a ' J O
(Y LS 151553 A1302 1 1
¢ 2 " ostza 10-12 02 1 - Dt
5260
- L1z-Ris H A1202 Fsoza H L Bipeosesros
! o 05130 C520a C522
& 151553 ¥ 0P © 82p | &P AfLL | s “ JIIIIIIIIIIIIIIIIIIIIIIIJ_
Cs260 X C5%a B31s F
0p 7 7% 100400 i N e ! Ysovmo _||@o i
F501b o . . - —@
R e O O IRapn = E 5 e |
¥is1ss3 ©, P sSTRilg & & THs? I% g8 = '
(&) 2
pstib_ | R523b losiss RS37b /57 Q525b PTH487 Ip701 - £33 1c701 @ i
! 2 RS RS33b, 1nsoos |14 8T8
T 1 8 TZ-R15 | 100121151553 p c3281 I ! 1rms HE TA7318P-1 8 !
= - D702 2 680 0701
o | & 3 ! IiNgdoa| Jefor 0y 209701 7 e 4 3 1 G '
S 1 g - i Rsp, h ! 17 %0714 5 Ba oo | o 2 O) 1
2 V2 Seno z 18072 | -1 Y 7 = 7270 &R zm so— 8o ® !
& 1 51 47P Q51D n W o jo0K C7I3b 825 7H <ST 828 \
=S MeNEE e A DT | [ e B rf---on- N si0p | ! R-2 (14ORIN RI0L] W5 gt & O3 | eT 9
go ! @c» H] ! 1 130 1 al { . !
Su ] ARSBEOZ 2uH bs | . !
23 [s 0z22x2 T ! ! 120 W TN —®© H
g8 3 ik S } — J Ll _Sms r.-.rﬂa_ S. 057 J8.] gl Teh | Ele 2VR701a - L
[:4 Al VW 2 -
uw I RS19R 1M 3 - _.||||J RS4LD ¥ RED B + w04 m o 4708 H—® __
23 9 8 ! 68-1W U 4 w c70% B9 = 2 RET -® !
2 « R536b®3 ! BLK © ey ] E3° Tl 7 Elo 1
" m M mvownxmllu |m i < imf. B o Y i ol o o o o W ® i
! a x S o P8~ | L[ 8Ta “f--"- “ _ ﬁ _ I I S R R R 7 (19 _
t ' @ 2] ¥ .
% % pe = o : 2 ¥[22 23 26 25 26 27 28 2 30 31 32 33 34 35 36 37 38 39 40 41 42 ® “
. 8 &3 o i 1T LC7sss Dz
1 POWER SUPPLY
] 2 2 Ro240, s, @520 LYW 2 LR70 @® *
P " = VAL, Ja1e0d Wpolh® Ly pnwpenuognosar sy ® & i
o Q o o o -
1 DS12b 05266 D¢ X - ey o o o of o o of o ¢ _ 2
1 ° 1a LTZ-Rsy 23325 557 8RN P oe] o e i M = A a2 E E e el [ @ *
[} ER=F 15 D513 ¥ [nu._wu m%%»a H A (888 4 ol 20 @ uw ]
13 £g3 EDE
mmm i 19158 PO N ~C'TORG gooe (SETTWFLT [ @ s 1
FT mz»z P — H ﬁ o8 W6 L ox @ S
- 3 25
g oSSl 2T e MAINCAMP BDSOSOFOT - | wz-10 7] nx Mwmmm:mmm 2 SEy YA '
|||||||| e e I 2 TERBT 5 05 e o
! o R708 10K . s BETT 5 lwlsB @ 1
| g gk > o SEkBrS @® '
190 130 “ D706 D3 S5AS H o
R ° zIs . @ 1 b
w <.
1 155 3] Q704 @ H ' 5
N 2 LI 38D 28 25C1815 @ G
=3 1
H ¥ wa ' N3
Lo S x 3 oo £ S @ ! 12
o~ xo w Wy z N P(X) EXS
S e S w 1+ O —@) P( 1 3°
g [Ty O™ Qg ] S3
23 83 o8 25 —@ne
3 =8 28 ne FL-PEAK METER L ®r 1 e
IIIII 4 :
.mm mm we as e TR s e _————— o
T T K S
w e
- r -
& .n— % ; - - 1 TURN-OVER SW
a e ! SUB- WOOFER AMP.
m_ FirrEN FIRE ALY r17IEY __ 1 o L0605 L3F03 | 84D60517F09 3
=== [t 1 mw HE 10 g 2 ! SW6BS &
SR R R A AR A & BASAS; Pl 1C801  BAGIZS = Py I i £
= 3 x| 2 ege o+ o gz I &
e g N Wsw_h “ ! 5 6 7 &w g “.l E= g »
) e a kel H “ 12 3 J 2 m 1 Amm - 0.022@ 0.022@ 4
0852 & R ' 5| slele x =3 £ - ! -tev 2
o g Bl & 8 e _ g8 Fo—--—-——- B :
< €853 7z z 2 [ 3 D81 M R6Sla C651a | " i«
Sz 23333 = B . ® & | [ Rel K wr 8 lvresta 18K WP T @ oz 78 I
< w 2K I 2| 2 Q W < 100K Hit -
2 i X o i “ 818,88, g % + o0 SRR ) RE53047KT 0271 O reosa BF =
= RB68 22K oz @ 3 SHZ 3S - R603a R605a oiat H
« 252358 o v sSTSrE] s[eTeEn | (s i EE I 68K K 560 E~(% ¥
] K ol @
EEEER alop L1 Bl gl e e L ERR a Bl C601aRe0a  RE0Za e o
e H 1 3] o, 12V LINE T 1ot 10p 22K 470K g ~ n
Bz ] ) Vol se y A o o3 |6-1 e Ex LY 2 |8
832 @ 12V Line 1 28 m < 8 Illo._N_ T-2 @‘. N wdymnp 24
= 11 D813 ol o q rolr ; R LR ]
x £ § M + 1 I REM < L wﬁ. 4 +01ired hi "
ISP N e et s 30- 2!
Sz o2 g - . lxl Voo edx (3 e z& -0 L 12601 4562 #oon . "
2T Te 2 o IS E 0805 1o ¢ 233 |2 a3 1o s 6 o | [+23re & H
@ 4 > wy
g |2 Qess |aese |@es7  [dess O of T8l 1 mm g o8 R ar C60TP Reotb He [@ - i w
2 E o
. gzt &S . 100 22K cooen mw o™ 58 wm“w o
= x 47P, S Taw | w
bl g D856 (0857  [DBS8  |DBS9 " " 3 cm.m ma ResIbCesly OHRL m L Hce0sb 4u|@® o (=]
g o OFF Hz |100Hz |150Mz i ) 8 2l 14 L B o VY n REOSHRS06b 20| Blx ) By | g
@ I
3 & 2oy Ca05 77 & 63 4Re53047K(T0 R603bZ 39K 560 2 R 230 1 2
2 RB75 ELIE == iy e =Py t 68K 8&Tx| (-3 18
51 1 o - 8 VRESIb T - 1
33K L —a T w
D861 . . v AR o 25 1 100KE) cesT cemz® Y
S LOCK Q859 25C1815 mx, x| ox ET Q803 L R N M [
5 Q8st Q854 5~ 58z 58 2 1 o K i3
o Q855 0858 2SA1015 B &~y B° Yoy g~ VRE02a 1 g
2 ! | 250K(M) Bx H
L ” _ 1 VR-AMP 84DE0517F08 & i
.~ 1815 REM.-DISPLAY 84DeOSI7FOZ . VR-AMP B4DEOSIZF - 22
30- DISPLAY 84060517F03 ‘" L0801~ G804 25C1815  REM.-DISPLAY 84r VRE02b H
||||||||||||||||||||||||||||||||||||| et 250K(N) J

EQUALIZER AMP

TONE - CONTROL AMP
84060543F01

84D60517F01

1
1
1

SUB-WOOFER AMP

S-1
B4DB0O543F03
AR s
r LX-104 %

28—




Schematic Diagram (4)

VOLTAGE CONTROLLED AMP et s o e e e e o o o e i o o s o — - = — o) [ gauliaiedindiadiadies Aachenibarbarieniias e nteniend g - _——
— 84060543707 H @ SELECTOR CIRCUIT 34D60530FO03 H 1 DECODER - CIRCUIT 84D60543F 04
84D60543F07 | | e ]
= A A RusE, 10K D405 LTZ-R1S 2y L 1 @
7Y
_ A4 “lp-3 PoWER suppLY H — 1
: ro~ |22 54060530F02 . h R305 . 27K 45303 0301 S)E-T
| » o~ - [eo [ 0304 . »t <
S ) T303 25CT815 1=
- _ S P §l3 e v z._~|__I20| bsCes |Ragr wwo@ QHJ\SS m
3 22 =
8 3 s s (e S8 [x x . i il LT W e |E G52 =
z3 2 ~H = = o N 8 3 b - Lo 0302 als ©lx a1 Q302 G301 |, 2 ]+
o3 2 @ x] JT 8 2 i b= < =t OF 2sc1815  25C1815 BS 2
o 7| | |Se 42 - ps{ oe EXT REMOTE SENSOR g P ]
V3 RAT 3y 455 [8% 33 oF 33 1 AST(S o T 1L T8 D336 o
@ U] — 22K 222 [T 19 N 3 o INPUT H o 8ix 219 135 D 3
=2 R 2| (L ®| o 5 ol |= 2| Rreuzsem « ' azl o T e
23 i ¥ rai22k| B £ r s w MC | oo H « ~elr x5
MM | 2 15 2 = 5 5 m 5 « Q402 AD| n [D-1_ EQUALIZER H mn.v b 58
N Raz2x| o e D412 2 \2sC1815 I 84D60543F 01 Rl /312 47K by o~ o2
Sw||T - gt &/ oars " o feotuP S : L BE
E3 4 z - gkl S, - 1% ”Mow 47K | [68D] e i otpown  R3ghak §52]+ s |
8 n 2 . DOWN 7S 8 2
] Wmm - ok g | 2 NEE £ [Ram 22K ﬁ Y 88841 ! | oo | vorace cont =2 o310 og a%3 L
i o = 2 o Sz PSF F Y ' 84D60543F02 Iﬂl LEuoﬂuz ront
oK ¢ S T o f: %3 g INER ' 5] 0-6
L] (S nuMmOm ° 3! o L._m \ ' S RHJ & B a4 — 30 D309 y DAD -
g © om R348 47K
LI |9 [eos 7 0T o W - - 100P, X3Q1XT CEL]
e Y 3 R428 47K Fo B B o sr 0 ©10%, P\ ) RI4ELTK 72N [35C1815
g 1 4 8 9 °F, [ R318 22K 3043 < N
o~ 2 4t g +3 F4x
e 1 R459 W © 1 gy t5n il ag 18 23
5 1 ¥ 10K ||, 100P 1 18 28 = 238
i 1 35 3 I 1 3 40) D308 i 3 .
88 1 8% e 7ws - Q305 RIS [ 2 17 > : PSrry G
88 | | Ll " o 6 © TUNER 2SC1815  R317, 22K VAN LC1 39 22K 0 '
Wy = S L3 ' W Lo 3 16 i 25C1815
83 3 7KL = s ow = R31 scz mFM g o DR R3% 22 b
11d %% ris k| O S - 8 WK "V D326 4 2 s e Q307
beodtlreo[® || | | ||  +------ w—13 = 4 7 ¥ D-5 3D DISPLAY E gl sca wAM g g T R342 22K _ 25Ci815 .
» T || mass zx| 2 R4SE, 47K < 0™ === 54060517F 03 T T8 D30 0325 s 8, —
100 M i W 9 3 e -~ ~ « Pt 7 35|SCAN 1 g e 35¢1815
= 1]| resg gk S J . a5 o Dl “ 5 & BT 3% o 2
., X «o! - IS - 3 A/R . m&NZ 310 a
Sal s <31 2! , 2+ i © Q Pt 8 35 = oNg (e
ﬁ SST =8 n.._Jr [ i R4SS 47K B e SRR b " pazs 7 512 =L 4 38
S 16 1 W ' NS Pt 9 - a
o S G 171 L | @W%mw a3 0322 $8)n wdE |2 g3
S x| 2 T < ® 1 CASSETTE 25C1815 ek 0 $822 51933103 ye
H S 5 3Y - DECK 0 ; {Au/_/ R320 22K . 10— 318 |ETT h 23
& W < n
3 -5 1] ® —o- T} m D < s 0337 &K
ne E| 3T %8 Ru6S 22K Q406 &| MoNO on N mﬁm_zm J JE| [=018) % ox3l |,
3% - Qe x| gomige| | @3+ 28 25C1815 R350 47K
29 25Ci8s O-FIL - i Q3 82 5| BRY: 8T 3¢ ) | RISQLTR T
i FL-OFF ™ HIZRES e D-2 suB wooFER ! 25C1815 oS 2| G o Ll his
H RIS , £ O T 34D60543F03 1 3l 3 ﬁ i
FL-HOLD H 1 12 o e |¥ MON.{ | <©H ol o 14 y
A : (K3 935 Jo B 1 t3
rus Scaom | w B Muph 2 1 L] ¥ | oi] @
8 M s FT Qa1s s R336 1K D319 &z
LOCK 7R 2 4 ] 1 o
Wy wx|? k- a1 cqpl? 7 , 2 b |escies By, rYers " N kS
R——T ww wmm s . o 35| || Bt o &) i z5ciss 16 g T 5
JGIL018 % =8 7 5 RU61 47K ele ! osl T= 17 5 %fCUE g “ 8 '8
~ ps g usa 2k |, @ o T|F 1 23T 3 = 2 % T S o
h S 1 & v g4 S+ 1 co.—| 1 ©H. pea= x |x|% x| o w0
& a 3. = x ES m = 5|REC. g T 5 o R332 25C1815
] s 5, IRas 22k ¢ 7 1 H o R T & s/8J3 ) 18 © 25 PR, o 32 020 A
- o MR [ S 100k 5 0% oIg3uR 4 S L,ls 6 o 13 V P
1 « RN A [S1=] < 0% T > S 2 -}
_,o,m:m 511 e 8 R4S 22K g, Rag2, 47K 313 H g3 IRAHE: | '° o LAy D334 ’ R334 22K ww_nﬂ_m o, TURN-TABLE
S o r ~ 1 o 20 — 23 - w
Hi-F1L 8 Tﬁ o ;S RAS2 2K 1o 2H Rég3 47K ot MERSW S psze 8 n s I 7 H
333 Elog8ly 5l L 35 R L _I_ Fca20 ! ! /33110 2 2 H_ e 48210 T nmmw : “
4 = 8 9 4 - bt 23 ™=
oL glErslEs] 1570 B ~ BusR T inte ' W o 5 < | T '
3 7 ¢ ! - 316
Q © 4 ' 3 y 004 sdo 1
D420 ' S 8 2% 1
e Bax x H
S _——- e, —— S mmemm————e—-—————————e—-—d B g TV o s 235 & _
Fem—————- e e - = k] J_ on7 I
' \ ¢ I
[} ! '
| & _ _
25 L20V 1 !
! a8/ TT0%a 9 : 1 !
' e ciosa OP0P -20v POWER SupPLY ' !
eHOND | N N = 6015 [cidta Jip 1y 84D60530F02 N e 3
0 H Rilla © [y o,
z R102a 15 i 330 | Ait3a | A1tda =% 2
Fa i W ‘ \ ogm S m B
o ot o §
Eu ' 8 ola-2 VOLTAGE CONTROLLED AMP
> i . o g = 7 m .|.|03 84D6DS43IF02
og H s | 2 2o = a =2
z0 | [ = @ 3 -
2 ;|8 3! o= || oed-n ,
R o] my up S v IR \ =1 83 8 7 6 8 890 R1ga 560 . o & “TTHO™IMT-4_ TonE CONTROL o ——— e -
18 @ 1C101 Q1030 . E ax 90 |© : oo B4DED517FO1 i i
2 = NIM-4043 25K170 4 £] MmH = o ; , ]
x| 83 1 4 c108b o - ] !
il 3 \...Tnm:.Q Ri18 560 , |o\o|> H ! R753 2.2K 12v [y
22 2lmg 1 agl H =L 2zlo ; ! : ] Ton
25 & Isj@ll =8 a107b £ £8 88 RL10} ! Vogy HRORT =
& B Mw bl4700P _ L& 25K 170 £z = o8 ! Io5g o — 37
€102b 1 A ] [R
MONITOR D105 - | = 1
PHONO RIQas 15 _ ) ason S, 600 | oo ] By 1c7s1 Z | 8 HEES
R Yax ala 25K 240 82 8 S PHONO N | & PPC1373H e ) ! g
= o8 TS = [ MC — e e o — . —————— ——————— o i aw~
x Sk = R113b, | R11an) O % DAD omi]o-1_ seLecron r . 1 Y " 3_4 1P m H ]
f " E3 slo [ gm0 [720007 Nigk _ [ © 84D60530F02 ! @ ! 52 , - - ! mm
f 2 o o8 & o~ | ' 3 1 RTS8 1 b 1 35S
! 21 @es =339 @ c1050 | 1060 8 s a3 2] ey I i 12 8o, G2v 1 BE o 7 o ]s BRe &
® 32 pis L
i 2R/ sz s @0.015 |3s00p 1102 ,|4 YEI™ H | &o Pooesd ! EQ R =T, ]
3 o«
1 ~ _|© 9 10 11 12 13 14 15 16 Sy 3 2o ) ufh..: b _
] ©ciom _ 5 TUN Fo 70 rags [seo-Yow 3| ) 7 oS 5
1 A A 470P M.M ”ﬂ I DAD! 5 n'o—i 1
TUNER R1220 0 g2 22 | S, | 0w 80— ot 1
o—y a106 MON Y G L1 £ MM [l
L 25C1815 - n'o M |
ros| m_ol. TUN |
DAD-L ! ® R128 22K R127 33K ot o] !
e pess .~ [Regs 2 1
: 3 _ _ L, ! | W & 0 H
3 S 0103 mos | E]8 1 ] ~V1ge0-Vaw ]
ruNER &g N4003| YiN-o003 | O 1 i 0897 @ ! H
3 1 ao— ! INFRA RED PRE AMPLIFIER 84D60S17F 04 ]
R 8 7 v | gl 1
] Snp:wu 108 SOURCE OUT _L-CH ! ! 3 _F M J
DAD-R - o SUS WOOFER AMP “ FUNCTION - SW sososwFos 1 Tt T T Tt T
SOUR B4D60543F03 L 3
=" She :
! EQUALIZER - AMP 3 84D60543F01 “
S . e Y e e ]
F LX-104 4

—29—



Power Output:

Rated |.M.:

Class of Qutput Operation:

S/N (Signal to noise ratio)
(IHF-A weighted, input
‘short-circuited):

Input Sensitivity:

Input Impedance:

RIAA Phono Equalization:

Todlerance:

Frequency Response:

Phono Overload:
Preamplifier Output:
Subwoofer Output:
Subwoofer Crossover
Frequency:
Subsonic Frequency:

High Cut Filter Frequency:

Dimensions:

Weight (net):

Specifications and design are subject to change without notice.

Specifications |

120 Watts minimum continuous per channel both
channels driven into 8 ohms load at any frequency
from 20 to .20kHz with no more than 0.012% THD
No more than 0.012%

(120 Watts/Channel, 8 Ohms, 60Hz: 6kHz—4:1)

A, B

Phono (MM): better than 86dB (5mV)

Tuner: better than 102dB

Phono (MM): 2.5mV !
Phono (MC): 100uV |
Tuner: 150mV
Aux 1-2: 150mV
Main in: 800mV
Phono (MM): 47k Ohms ;
Phono (MC}): Low 50 High 300 Ohms
Tuner: 30k Ohms
Aux 1-2: 30k Ohms |
Phono (MM): +0.3dB 20—20kHz

Phono (MC): +0.3dB 20—20kHz

Main In (—1dB): 10—100kHz

Bass: 200/400Hz

Treble: 2k/4kHz

MM: 1kHz, RMS: 20mV

800mV

800mV

50, 100, 150Hz 6dB/octave

30Hz

7kHz

17-13/16°"(W)x5-3/4"(H}x17-7/8"(D)
453mm x 147mm x 455mm

16.0 kg

351b 20z




POL-X1

t

LUX CORPORATION, JAPA

11, 1.-CHOME, SHINSENRI-NISHIMACHI, TOYONAKA-SHI, O0SAKA
PHONE: 06-834-0004 CABLE LUXMAN TOYONAKA TELEX: 5287106 LUXE!

LX-NK.8311.008A Printed in Ja



